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\startmodule[basicexam]

\unprotect
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2 A RIS/ Command under handling / KD a~ > F
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6 ¥ & problem ¥% / Problem Environment

7 % HE question #E

8 & choice #i%

9 W HE writing PR

10 % answer %
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12 EXRNEHL

13 #HE fillin &%
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28 / Module Setups / €EZ 2—)V kv b7 v S

Value Value

mode= student will show point and hide answer
mode= teacher will show point and answer
mode= check  will show some infos to console

layout= twoup  print two virtual pages on each physical page.
layout= none donothing

footer= default show subject and page at footer
footer= none donothing

\setupmodule [mode=student,layout=default, footer=none]

\startinterface english

\setinterfacemessageibasicexam}t{lti{There are unknown parameters in --, please
check.?

\setinterfacemessage{basicexam}{$2}{Question (--): answer is (--).%
\setinterfacemessagetbasicexamt{{3ti{You defined --, but you don't assign a value
to it. Please check.?

\setinterfacemessageibasicexam}{9%{-- is not installed, some -- will not display
properly.}

\stopinterface

\newif\iflay_twoup \lay_twoupfalse
\newif\ifhdr_default \hdr_defaultfalse

\processallactionsinset[\currentmoduleparameter{mode?] [
teacher=>35\enablemode[teacher]?,
student=>{\enablemode[student]?,

check=>{\enabhlemode[check]},
\v!default=>%\enablemode [student]?,
\v!unknown=>\showmessage{basicexam}{{1}{imode}?,

]

\processallactionsinset[\currentmoduleparameter{layout?][
twoup=>\lay_twouptrue,
none=>\relax,
\v!default=>\relax,
\v!unknown=>\showmessage{basicexam}{{1}{layout?,

]

\processallactionsinset[\currentmoduleparameter{footert][
none=>%\relax}?,

\v!default=>\hdr defaulttrue,

\v!unknown=>\showmessage{bhasicexam¢{l}{footer},

]
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MAEHEA  / Command under handling / Rs2RkDa< > K

FEHM 2UP Printing

\setuppapersizeluser pagesize][real pagesize,real orientation]

\setuparranging[page arrange method]

more info : https://wiki.contextgarden.net/Command/setuparranging
https://wiki.contextgarden.net/Imposition

fougn:

\setuppapersize[A4] [A3,landscape]
\setuparranging [2SIDE]%[2UP]
\setuppagenumbering[alternative=singlesided]%{doublesided?]

\iflay_twoup

\setuppapersize[A4] [A3,landscape]

\setuparranging [2SIDE]% 2SIDE start page at odd [2UP] start at even
\setuppagenumbering[alternative={doublesidedt]%singlesided]

\fi
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& IR PR o 2
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\startinterface all
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\setinterfaceconstant
\stopinterface

LHEE LA S R ANFA SR B

\installnamespace

iclasst iclasst
fanswert fanswert
ipoint} $point?

ishowanswer}? <{showanswer}?
{showpoint? ishowpoint?
{answerstylet {answerstyle?
fanswercolort s$answercolor?
fanswerlabelt s$answerlabelt?
ipointstylet {pointstylet
ipointcolort {pointcolor?}
ipointlabelt {pointlabel?}
{autorightt tautorightt?
tinlineleft}? <{inlineleft?
{inlinerightt {inlineright?
finlinechoice} +{inlinechoice}

icloset

\installcommandhandlexr \????close {closet \???2?close
\newif\ifmode_quickcheck \mode_quickcheckfalse

\newif\ifmode_check

\mode_checkfalse

\newif\ifmode_showanswer \mode_showanswerfalse
\newif\ifmode_showpoint \mode_showpointfalse
\newif\ifmode_showscript \mode_showscriptfalse

\newif\ifmode_example
\newif\ifenv_question
\newif\ifenv_problem
\newif\ifenv_choice
\newif\ifenv_material
\newif\ifenv_close
\newif\ifenv_writing

\mode_examplefalse
\env_questionfalse
\env_problemfalse
\env_choicefalse
\env_materialfalse
\env_closefalse
\env_writingfalse

\newif\ifenv_subwriting \env_subwritingfalse

\newif\ifenv_answer
\newif\ifenv_toplevel
\newif\ifenv_botlevel
\newif\ifitem_pitem
\newif\ifitem_£illin

\env_answerfalse
\env_topleveltrue
\env_botlevelfalse

\item_pitemfalse

\item_fillinfalse

\newif\ifitem_inlinechoice \item_inlinechoicefalse

\newif\ifchoice_check

\choice checkfalse

\newif\ifcontinue_counter \continue_counterfalse

\newif\ifclose_counter_reset \close_counter_resetfalse

\newdimen\d_width_cit
\newdimen\d width cit max
\newdimen\d_compared_maxwidth
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82  \newdimen\d_maxwidth_with_label

83 \newcount\c_currentitemnumber% #H¥EZ inititemnumber F incrementitemnumber
84 \newcount\c totalitemnumber¥ ## 7 recurseditemnumber ¥

85 \newcount\c_steppoint% ##7% install_point #+%

86  \newcount\c_steppoint_temp

87  \newcount\c_stepscore

88  \newcount\c_stepscore_temp

89  \newcount\c closetest

90 \newcount\c_closetest_tempa

91 \newcount\c_example_question

92 \newcount\c_envcounter_toggle

93  \newcount\c fillin_ number

94 \newcount\current_ total choice_number®% & # # 8 ABCD # # % , R W E X1t & &
95 totalitemnumber

96 \newcount\current_available columns%™ H ik 1 & £ 71 4k

97  \newcount\parentitemnumber% \parentitemnumber &% FRXAF| XI5 TFE

98  \definecounter[Unicode] [way=bychapter]

99  \definecounter[Unicode_ toplevel] % for level 1 : question or problem
100 \definecounter[Unicode midlevel] % for level 2 : problem or level 1
101 \definecountexr[Unicode botlevel] % for level 3 : only for level 2

102 \definecounter[strc close counter] % # close FRIETF V44 question FHMXE

103 \def\inititemnumber{\c_ currentitemnumber=0\relax\c totalitemnumber=0\relax?
104 \def\incrementitemnumber{\global\advance\c_currentitemnumber by 1\relax}

105 \def\recurseditemnumber%%IL 7 H 44 7 4

106 S\ifnum \c_totalitemnumber > \c_currentitemnumber®
107 \global\c_totalitemnumber = \c_totalitemnumber
108 \else \global\c_totalitemnumber = \numexpr\c_currentitemnumber\relax\fi}

109 \def\save_question_order{\setcountexr[strc close counter][\currentitemnumber]

110 \savecounter[strc close counter]?

111 \def\restore_question_order{\restorecounter[strc close counter]?

112 \def\EQuestionID{E-\somenamedheadnumber{chapterticurrent?-\number

113 \c_example_questiont

114 \def\QuestionID{\ifmode_example\EQuestionID\else\somenamedheadnumbex{chapterts
115 current?-\rawcountexrvalue[Unicode] \£fi?

116 \def\HelperID{\namedheadnumber{chapter?-\rawcountervalue[Unicode toplevel]}

117 \def\increaseEQuestionID{\advance\c_example_question by 1\relax}

118 \def\decreaseEQuestionID{\advance\c_example_question by -1\relaxt?

119 \def\increaseQuestionID{\ifmode_example\increaseEQuestionID\else\incrementcounter
120 [Unicode]l\fi}

121 \def\decreaseQuestionID}\ifmode_example\decreaseEQuestionID\else\decrementcounter
122 [Unicode]\fit?

123 \definedataset[Answer collector]

124 \definedataset[Answer_collectorhelper]
125 \definedataset[Subwriting collector]
126  \newwrite\examanswer

127  \def\exam_write_answer$%
128 \immediate\openout\examanswer=\jobname -answer.txt\relax
129 \immediate\write\examanswers
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\QuestionID \space\string @
\currentenvironment \space\string @
\currentuserorder \space\string @

\pass_parameter_answer}
% \closeout\examanswer

hy

\ifmode_check
\immediate\openout\examanswer=\jobname -answer.txt\relax
\immediate\write\examanswers
\string questionid \space\string @
\string environment \space\string (@
\string userorder \space\string @
\string answer}
\fi

\definetextbackground[env_answer]

\defineitemgroup [env_question]

\defineitemgroup [env_problem]

\defineitemgroup [env_choice]

\definebar [fillin text]

\definemarking [title]

\definemarking [subject]

\defineoverlay [normalframeOL] [\useMPgraphicinormalframeMP}]

\startuseMPgraphic{normalframeMP}
draw unitsquare xyscaled (\overlaywidth, \overlayheight);
\stopuseMPgraphic
\startuseMPgraphic{rules:under:wavet
vardef 1sin primary x =
lua("mp.print(math.sin(" & decimal x & "))")
enddef ;
draw function(1, "x", "lsin(1.2%xx)"™, 0, RuleWidth, .1pt)
shifted (0,RuleFactor*RuleOffset+RuleDepth)
withpen pencircle scaled RuleThickness
withcoloxr RuleColor ;
setbounds currentpicture to unitsquare xysized(RuleWidth,RuleHeight) ;
\stopuseMPgraphic

\defineconversion [hiragana] [B,W,2,2,8,MZ,{,0,2,%,L,9,¥,%,
72, 6,D,7C,&,7%,1C,H,8,D,i&,0,5,\, 1%,
£,H5,6,9,8,9,0,K,5,0,%,1,5,D,A]

\defineconversion [katakana] v, 14,w, . %, A4,%F,7,7,3,v,vX,+,V,
2, F VT, 8,2 X RN BT, N R,

X, AR, ,3,5,0 00, b,a, T, V]
\defineconversion [hiragana-iroha][\, A ,i&,Ic,iF,~\, &, 6,0 ,W,%,%Z,D,h,
=N, Z,20,17,%,56,8,5,H,0,8B,{,%, %,
J,5,2,2,C,®,%,2,9,,#,L,2,0,%,

®,9,A]

\defineconversion [katakana-iroha][-f,&,’N,=,K,~\, ~,F, U, X )V, T, T, 7,
I VAR SE A R NIy . A i/ A G g
g,7,a,xT,7,7 %, F, 2, X, 2,¥,2, e, E
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v, X, V]
\definelabelclass [exam] [0]
\setuplabeltext [cn] [section={%,#41,subsection={%, ¥1%]
\setupexamtext [cn] [point={4%, answer={%%:%, page={%,6 M}, totalpage=$3t, 1]
\setupexamtext [hans] [point={4%, answer={%%:%, page={%, W, totalpage=i#,K W?
% work with memos module
\setupexamtext [hant] [point={4?%, answer={%&%:}, page={#%,H?, totalpage={3,6 H?
% work with memos module
\setupexamtext [en] [point={pts},answer={answer:},page=ipagest, totalpage={
total,pagest?]
\setupexamtext [ja] [point={&}, answer={%& X :%, page={%,X— V1, totalpage={#,
=]

\definehead [tu] [chapter]

\definehead [ego] [section] % me latin

\definehead [isea] [subsection] % he or she latin

\definehead [heu] [subsubsection] % och

\setuphead [tu] [placehead=empty]

\setuphead [ego] [sectionsegments=section,style=\ssal]

\setupheads [isea] [style=\hwa]

\setupheads [tu,ego,isea]
[indentnext=yes,align=flushleft,
before={\blank[quarterline]}#,
after={\blank[quarterline]}#,
sectionconversionset=examnum]

\definelist[tu]

\setuplist [tu][style={\feature[+] [tabularnumbers]t]

\definestructureconversionset[examnum] [chinesenumerals] [chinesenumerals]

\ifhdr_default

\definedelimitedtext [paren] [location=text]
\setupdelimitedtext [paren:1] [left=§ (\nobreak?, right={\nobreak) }]
\setupdelimitedtext [paren:2] [left=3\,[~}, right={~]\, ]
\setupdelimitedtext [paren:3] [left=3\,6\i~}, right={~\1%\,*]
\setupmarking[subject] [expansion=yes]

\setupfooter [state=start]

\startsetups hdr:infos

\framed[height=max,align=1ohi, frame=0ff]{%
\getmarking[subject] [page] [current]
\paren{\examtexts{ipage}+\pagenumbexr?, K\ %

\examtextsitotalpageti\lastpagenumberti%

%

\stopsetups

\setupfootertexts[\setupsihdr:infost]

\fi

basicexam 11 CONTEXT
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4934 UR / print title / 24 L OVERR

The following command simply shows how to define, set and draw a new test paper information.

« J@i# \definepapertitle[PaperTitleName] a4 n] DU &G A,

« JE# \setuppapertitle[PaperTitleName] <A AREEHER,

« JEIE \makepapertitle[PaperTitleName] i< DAAGHIETHLS R,

\definepapertitle and \setuppapertitle accept one required and two optional parameters. The
first parameter is the name of the test paper. The second parameter is the name of the parent test paper,
which can be inherited by setting the parent. The third parameter can directly set the relevant style
and content. The order can be set through ‘list’ parameters. The default order is ‘secret, title, subject,
information, notice’.

Once you've defined the list parameter, it will automatically expand the relevant parameters to define its
style. For example, if you define a title parameter in the list, it will automatically expand the following
parameters:

\setuppapertitle[list={title,and some other info}]

Value Value

title titlealign
titlestyle beforetitle
titlecolor aftertitle

\definepapertitle[papertitles]
\setuppapertitle [papertitles][
list={secret,title,subject,information,notice}?,
subjectsuffix=%#Hx#%,
secretstyle=\ss,
titlestyle=\ssa,
subjectstyle=\ssb,
informationstyle=\ttx,
noticestyle=\rm\it,
secretalign=flushleft,
titlealign=center,
subjectalign=center,
informationalign=center,
noticealign=flushleft,
secret={4% % B AW,
title={2021 FLEF/mEFFERALLEH —F KT,
subject={Hi&?,
information={ %4 :150 4, R :120 441,
notice={ ¥ EFEI:

\startitemize[n, packed, joinedup]

\item &M, $LKE AL, BHIETHEAEY
LHEMEWHALEE, %

\item Z#FEAE, SLAFER 2B 4FEWEAF EX
R HNAERS BB, WK, FAREES
BT4E, BhRHACEERT. BFHRFAY
i, SR 0.5 EXBEEFE, BEEY
FEELERFAENLE L, T E SRELY
MEEEA, ARAE EERT Y. %

CONTEXT 12 basicexam
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\item FREHKE, HRAEERF—HRHE,
\stopitemize},
]
\makepapertitle [papertitles]
%If youwant, you can also change the key value directly here.like
% \makepapertitle [papertitles][title=new paper title]

\installnamespace {papertitle}
\installnamespace {papertitlealternative}
\installnamespace {papertitlerenderingst?

\installcommandhandlexr \????papertitle ipapertitlet \????papertitle
\installcommandhandlexr \? ? ? ?papertitlealternative jpapertitlealternative?
\????papertitlealternative

\def\doifemptyelsex#l#2{\doifelse{#1t{ {3425 34#1%E
\def\definepapertitlevariable#l$\begingroup’ #1=clement name
\parindentOpt\relax\par%
\doifelse{\namedpapertitleparameteri\currentpapertitle}{#lalignii{i%
i{\setupalign[center]}%
{\setupalign[\namedpapertitleparameter{\currentpapertitlet{#lalign}]i%
\doifemptyelsex{\namedpapertitleparameter{i\currentpapertitletibefore#1¢${1%
\doifemptyelsex{\namedpapertitleparameter{i\currentpapertitlet{#listylets{i%
\expandafter\begincsname\namedpapertitleparameter{\currentpapertitlet{f#ficolor?
\endcsname
\doifemptyelsex{\namedpapertitleparameter{i\currentpapertitle}{#1$$%
{\showmessageibasicexam?{3%{#1}1%
\doifemptyelsex{\namedpapertitleparameteri\currentpapertitletiafter#l1ts{i%
\par\endgroup?

\tolerant\def\makepapertitle [#1] [#2]%
{\begingroup\cdef\currentpapertitle{#1%%
\ifarguments\oxr\ox\setuppapertitle[#1] [#2]\fi
\edef\currentpapertitlealternatives\papertitleparameter\c!alternative}¥
\ifcsname\currentpapertitlealternativehash\s!parent\endcsname \else

\let\currentpapertitlealternative\s!default
\fi
\usesetupsparameter\papertitleparameter
\edef\p_renderingsetupi{\papertitlealternativeparameter\c!renderingsetupi}¥
\directsetup\p_renderingsetup
\marking[subject]{\papertitleparameterisubject?

\papertitleparameterisubjectsuffixi?}

\marking[title]{\papertitleparameter\c!title?
\endgroup?

At the same time, you can define your own test paper title template through alternative. here is an ex-
ample for default alternative.

\definepapertitlealternative
[\s!default]
[\c!renderingsetup=\????papertitlerenderings:\s!default]

\startsetups[\????papertitlerenderings:\s!default]

basicexam 13 CONTEXT
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\edef\currentlist{\papertitleparameter\c!list}
\edef\currenttitle{\papertitleparameter\c!title?}

\expandafter\expandafter\expandafter\tu\expandafter{\currenttitle}

\processcommacommand [\currentlist]\definepapertitlevariable
\stopsetups

\setuppapertitle [
\c!alternative=\s!default,
subjectsuffix=%#K%,

list={secret,title,subject,information,signinformation,notice},

]
\setuppapertitle [
secretstyle=\ss,
titlestyle=\ssa,
subjectstyle=\ssb,
informationstyle=\ttx,
noticestyle=\rm\it,
secretalign=flushleft,
titlealign=center,
subjectalign=center,
informationalign=center,
noticealign=flushleft,
secret={#% * BH},
title={\currentdate[year] FLBHFFRALLEH—F KT,
subject={3#iE?,
signinformation={{#4: #{\blackrule[width=4em, height=.2pt]?
$FI S 1¥\blackrule[width=4em, height=.2pt]},
information={2%#&£12W, #42150%, FKE 120045, 1,
notice={# 4 E&:
\startitemize[n, packed, joinedup]
\item £, HHLHECHHL, RFILESHAREFHNETE
RMEAHNBEERAE T AR AN ENLE L, %
\item ZAu, FHBLAMK L EEFRN " WER, ALY NS
LE FAEEL, ERRAE FHNEE—BLR, %
\stopitemize},

]

\definepapertitle[newpaper]

CONTEXT 14
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BE—en] RE S 25T S / Symbol Defination / & ¥ FIVDE R

\doifelsefontpresentiNotoSansSymbols2-Regulari$i{
\showmessage{basicexam}{9¢{NotoSansSymbols2 font,symbol}}
\definefontsynonym[NotoSansSymbols2] [file:NotoSansSymbols2-Regular]
\def\notosymb#1{\getglyphstyledi{NotoSansSymbols2¢{\tochar{n:#1%t}

\definesymbol [marksquare] [\notosymb{}]
\definesymbol [markcircle] [\notosymb$O}%]
\definesymbol [marknotcheck] [\notosymb{$]
\definesymbol [markcheck] [\notosymb{}]

\definesymhol [markheavycheck] [\notosymbi}]

\definesymbol [marksquarecheck] [\notosymb{\rlap$?\, \raise.2em\hbox{}?$]
\definesymbol [marksquareheavycheck] [\notosymb$\xlap{$\, \raise.2em\hbox{}}]
\definesymbol [markcirclecheck] [\notosymb{\xrlap$O}\, \raise.2em\hbox{?t¢]
\definesymbhol [markcircleheavycheck] [\notosymbi\xlap{O}#\, \raise.2em\hboxi}}]
\definesymbol [markcross] [\notosymb{#]

\definesymbol [markheavycross] [\notosymb{$]

\definesymbhol [marksquarecross] [\notosymb{\rlap$?\, \raise.lem\hbox{}?$]
\definesymbol [marksquareheavycross] [\notosymbi\xlap{t\, \raise.lem\hbox{}}]
\definesymbhol [markcirclecross] [\notosymb{\rlapiO}\, \raise.lem\hbox3{?t¢]
\definesymbol [markcircleheavycross][\notosymb{\xrlapiO¢\, \raise.lem\hbox{}]

It is important to note that these symbols require the font NotoSansSymbols2 to be pre-installed.

\symbol{marksquaret O ‘\symbol{markcircle} O
\symbol{markcheck? v | \symbol{markcross? X
\symbol{markheavycheck}? v | \symbolimarkheavycross? 4
\symbol{marksquarecheck}? ™ | \symboli{marksquarecross} X
\symbol{marksquareheavycheck#? o \symbol{marksquareheavycrosst X
\symbol{markcirclecheck}? @ | \symbol{markcirclecross? &
\symbol{markcircleheavycheck? & | \symbolimarkcircleheavycross} &
\symbol{marknotcheck? N

\def\choice_answerstatus {\datasetvariable{Choice_collector}{\QuestionID¥$
answerstatusitt

\def\point_totalpoint i\datasetvariable{Answer collectort$\QuestionID¥$4
totalpointi?}

\def\point_point i{\datasetvariable{Answer_ collector}{\QuestionID${pointt¥

\def\currentavailablecolumns {}%
\def\currentrealavailablecolumnss?}

\def\currentitemmaxwidth it

\def\currentanswerstatus it

\def\example_mode{\ifmode_example NOTICE: MODE EXAMPLE IS ON !\fi?

\startluacode
local report = logs.reporter("question info")

local function center text(text, total width)
local text_length = #text
local left padding = math.floor((total_width - text_length) / 2)
local right_padding = total width - left padding - text_length

CONTEXT 16 basicexam



345
346
347

348
349

17 t-basicexam

Memoir Ever

return string.rep(' ', left padding) .. text
end
local function center_report(centerinfos)
for _, row in ipairs(centerinfos) do
local centered line = center text(row, 60)

report(centered _line)
end
end

local lines = %
"NOTICE: MODE CHECK IS ON !",

"Notice,Cinfos only show choice env information"

"CU means 'current' , if CUuserorder # CUorder,
"Tt maybe because START parameter is enabled. ",
"Notice,MODE EXAMPLE wont provide data infos '

by

function formatted report(data)

- RIABANTHE, WNEEEH DR

string.rep(' ', right_padding)

1

1
’

local format str = "%15s %-20s %15s %-20s"
TepOTt (M- ")
center_report(lines, 60)
- e
for , row in ipairs(data) do
report(format str:format(row[1], row[2], row[3], Tow[4]))
end
TepPOTt (M- m ")
end
\stopluacode
\def\check_info{
{II n , Il\exampleimodell , mnn , n II},
1 "Name ", "Content ",
"Cinfos ", "Content "%,
{"CUitemgroup ", "\datasetvariable{Answer_ collector}{\QuestionID${envid?}
"CUparen ", "\currentparentitemgroup "1,
1"QuestionID ", "\QuestionID v,
"HelperID ", "\HelperID ",
s"order ", "\currentorder v,
"userorder ", "\currentuserorder "1,
{"point ", "\datasetvariablej{Answer_collector} {\QuestionID%{point?} ",
n II' n II}'
i"totalnumber ", "\datasetvariablejAnswer collector}? {\QuestionID}{itotalnumber
P
"Htotalnumber ", "\datasetvariable{Answer collectorhelper}{\HelperID%{

totalitemnumbert"?,
{"totalpoint ",

n
’

basicexam 17
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"Htotalpoint ", "\datasetvariablei{Answer collectorhelpert{\HelperID¢+$
totalpoint} "%,

{1"CUCmaxwidth ", "\datasetvariablejAnswer_collectorhelperti\HelperID}+{
itemmaxwidtht ",

"Cavailable ", "\datasetvariable{Answer collectorhelper}{\HelperID¢+$

availablecolumns?t &

\datasetvariable{Answer_collectorhelper}{i\HelperID}{realavailablecolumns

't
T"answer ", "\datasetvariable{Answer collector}? <$\QuestionID}{answer? ",
n n , n n } ,
1 "Hanswer ", "\datasetvariablej{Answer_collectorhelpert{\HelperID}{{answer}?
" n , " " } ,
{"mode.status ", "\mode_ status ",
"level.check ", "\level status "1,
i"Canswerstatus", "\choice answerstatus ",
" n , " " } ,

¥

\def\show_check_info#1{\begingroup\ifmode_check
\ifdefined\currentorder%
\let\old currentorder\currentorder
\let\old currentorder\currentuserorder
\else%
\def\currentorder{ <{\ttx currentorder didn't definet}
\def\currentuserorder{i\ttx currentorder didn't definet?}
\£i%
\directlua{formatted report({#1})i\fi\endgroup?

\def\dimtonum #1{\numbexr\numexpr \dimexpr #1\relax*x635/65536\relax }
\newcount\cnt_floor
\def\floor#1{\floorhelperi#l.\relax?
\def\floorhelper#l.#2\relax{\ifx\relaxi#2\relaxi#1%
\else\if . i#2#1\else\floorhelphelperi#1t#2\£fi\fi}
\def\floorhelphelper#14#2 . {\ifnumi#2>0%
\floorhelphelphelper#l\relax\relax\relax\else#1\fi}
\def\floorhelphelphelper#l#2\relax{%
\if-#1\relax-\cnt floor=04#2\relax
\advance\cnt_floor by 1\relax?
\numbex\cnt_ floor\relax%
\else\cnt floor=0#1#2\relax®
\numbex\cnt_floor\relax\£fi%

ky

\def\initcollectanswer{\directluaiMultiAnswerCollector = §¢%%
\def\collectanswer#l{\directluai{table.insert(MultiAnswerCollector, [[#1]])%}
\def\collectedansweri\directluaitex.sprint(table.concat(MultiAnswerCollector,",")

)83

\def\example_toggle[#1]% LA TARKZEIE T example mode
{\doif{\csname #lparameter\endcsnameiexamplettitruet
{\mode_exampletrue\global\c_envcounter_toggle=999\relax}}?
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424  \def\set envitem counters%

425 \ifdefined\currentenvnumber

426 \edef\prevenvnumberi\currentenvnumber}y

427 \fi\initcollectanswer% ##afh & A FKEH

428 \global\c_envcounter_toggle=0\relax’

429 \ifenv_question \global\c_envcounter_toggle=1\relax \edef\currentenvironment {
430 questiont\fi

431 \ifenv_problem \global\c_envcounter_toggle=2\relax \edef\currentenvironment {
432 problem:\fi

433 \ifenv_choice \global\c_envcounter_toggle=3\relax \edef\currentenvironment {
434 choicef\fi

435 \ifenv_material \global\c_envcounter_toggle=4\relax \edef\currentenvironment {
436 materialt\fi

437 \ifenv_close \global\c_envcounter_toggle=5\relax \edef\currentenvironment {
438 closet\fi

439 \ifenv_writing \global\c_envcounter_toggle=6\relax \edef\currentenvironment {
440 writing?\£fi

441 \ifenv_subwriting \global\c_envcounter_toggle=7\relax \edef\currentenvironment:
442 subwriting#\£i

443 \ifenv_answer \globalladvance\c_envcounter_toggle by 10\relax\fi

444 \edef\currentenvnumber{\the\c_envcounter_togglett

445 \def\level_statusi\ifenv_toplevel <env_toplevel>\else%
446 \ifenv_botlevel <env_botlevel>\else%
447 <env_midlevel>\fi\fi?

448 \def\mode_status{\ifmode_check <M:C>\fi%check

449 \ifmode_showanswer <M:A>\fi%answer
450 \ifmode_showpoint <M:P>\fi%point
451 \ifmode_example <M:E>\fi?

452 \def\current_user_order#l{% get user order which can by changed by START

453 \number\csname #lorder\endcsname®% %754 FH ML 2(4)
454 \ifnum\rawcountervalue[Unicode_botlevel]=0\else%
455 (\rawcountexrvalue[Unicode botlevel])\fi?

456  \def\set currentuserorder[#1]3% set order that user setted

457 \ifcsname #lorder\endcsname\else

458 \expandafter\newcount\csname #lorder\endcsname\fi

459 \ifenv_toplevel\csname #lorder\endcsname=\currentitemnumber
460 \else\csname #lorder\endcsname=\parentitemnumber \fi
461 \edef\currentid{\QuestionID}%

462 \edef\currentorderi{% get unique order ( no chapter number )
463 \somenamedheadnumberichapterf{icurrent}-%

464 \rawcountervalue[Unicode_toplevel]-%

465 \rawcountervalue[Unicode midlevel]-%

466 \rawcountervalue[Unicode botlevel]${%

467 \edef\currentuserorderi\current user orders#1::%HEH A L #lorder
468 BENTFRETTRABRE TS, SNEERRLWTS

469 \tolerant\def\set count _envlevel [#1]3% #1 &% {2order
470 \setcounter[Unicode midlevel] [0]%
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\setcounter[Unicode botlevel][0]%
\ifdefined\prevenvnumber
\ifx\currentenvnumber\prevenvnumber

\env_topleveltrue \incrementcounter[Unicode_toplevel]%
\else\env_toplevelfalse\incrementcountexr[Unicode midlevel]\fi
\else\env_topleveltrue \incrementcountex[Unicode_ toplevel]\fi
\parentitemnumber=\currentitemnumber\relax
\set_currentuserorder[#1]% £l%z #2o0rder LL4&{#/F
\inititemnumberf%#4 1t F 72 H st
\expandafter\show_check_infoj\check_info}%

hy

\tolerant\def\set count itemlevel [#1]$%
\env_toplevelfalse
\ifdefined\prevenvnumber
\ifx\currentenvnumber\prevenvnumber
\env_botlevelfalse\incrementcountex[Unicode midlevel]\else
\env_botleveltrue \incrementcountexr[Unicode botlevel]\fi
\else\env_botlevelfalse\incrementcountexr[Unicode midlevel]l%
\fi\ifenv_subwriting\env_botleveltrue\fi
\set_currentuserorder [#1]%
\incrementitemnumber¥%¥ &7 B st
\expandafter\show_check_infoj\check_info}%
%

\def\installdatacollector®
i\writestatusibasicexam?{{Question (\currentuserorder): answer is (\currentanswer
) ISBR RSR A A B A
\ifmode_check\exam_write_answer\fi
\setdataset [Answer collector][\QuestionID] %k & A % it £ K A & B
[id=$\QuestionID},%
envid={\currentenvironment : \the\c_envcounter_toggle : \currentitemgroup?
order={\number\currentorder?, %
userorder=5\currentuserordert,%
answer={\pass_parameter_answer?,%
point={\currentpoint?,%
totalnumber={\datasetvariable{Answer collectorhelper}{\HelperID${
totalitemnumbert?t, %
totalpoint={\datasetvariable {Answer_collectorhelper}{\HelperID}{
totalpointii, ]¥

\protected\def\installdatacollectorhelper{%

\recurseditemnumber%

\setdataset [Answer collectorhelper] [\HelperID] %t &1z & i 7 & 2L &
[totalitemnumber={\the\c_totalitemnumber},
totalpoint={\currenttotalpoint},
availablecolumns={\currentavailablecolumns¥,
realavailablecolumns={\currentrealavailablecolumns}?,
itemmaxwidth=§\currentitemmaxwidth},
answer={\currentanswer},
answerstatus={\check _choice_answerstatus}?,
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522 \def\pass_parameter_answer{%

523 \ifenv_writing\short_writing_answer\else
524 \ifempty\currentanswer there is no answer setted.\else
525 \currentanswer\fi\fi?

526 \def\getanswerforanswer$% used for answer env to auto get answer

527 \ifenv_writing

528 \short_writing_answer

529 \else

530 \datasetvariable{Answer collector}{\QuestionID¥3answer$%%
531 \fit

532 \def\getpointforansweri% used for answer env to auto get point
533 \datasetvariable{Answer collector}{\QuestionID}{pointt}

534 \def\check_choice_answerstatus{\ifchoice_check checked!\else%
535 unchecked!please set the answer manually by add [#] parameter to citem command.
536 \fit

537  \def\paren#li (#1)}

538 \protected\def\install point[#1]{%

539 \edef\p_showpoint{\csname #lparameter\endcsname{showpoint$$%
540 \ifempty\p_showpoint\else

541 \ifx\p_showpoint\s!true\mode_showpointtrue

542 \else\mode_showpointfalse

543 \fi\fi

544 \ifx\currentmode\c!point

545 \ifdefined\currentpoint\edef\prevpointi\currentpointt\£fi

546 \edef\p_point{\csname #lparameter\endcsname\c!point?%¥ = 3
547 \ifempty\p_point

548 \ifenv_toplevel® =@/ RJE I, @it prev HkE®, @ik

549 \edef\currentpointi0}\else% FHit, BEEHMEL 0

550 \edef\currentpoint{\prevpointi\£fi

551 \else%

552 \ifenv_subwriting

553 \edef\currentpoint{\namedwritingparameterisubwriting?\c!pointt%
554 \else

555 \edef\currentpoint{\csname #lparameter\endcsname\c!point}
556 \fi

557 \fi

558 \ifempty\currentpoint® HMHLE Al 2 ¥ (L

559 \scratchcounter\zerocount

560 \else

561 \scratchcounter\currentpoint

562 \fi

563 \ifenv_toplevel® =& it

564 \c_steppoint\zerocount

565 \c_steppoint_temp\zerocount

566 \fi
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\global\c_steppoint_temp\scratchcounter

\ifnum\c_steppoint=0

\global\c_steppoint=\c_steppoint_temp

\else%

\global\c_steppoint=\numexpr\c_steppoint+\c_steppoint_temp\relax

\Ei% JREF AL

\ifenv_toplevel¥ W RH FHEH, TJEEtHE question AW HME, (EE 0P n T 42 kit
\edef\p_totalitemnumberi{\datasetvariable{Answer_collector}{\QuestionID¥}+
totalnumberti¥%
\doifelsesomething{\p_totalitemnumber}{\scratchcounter\p_totalitemnumberis
\scratchcounter\zerocount?¥%

\writestatusiquestion info!jcurrentsteppoint is \the\c_steppoint ::\the
\c_steppoint_tempit%

% Ao A, (EE i d steppoint T MUEBUIE BB & AT EL
\ifnum\scratchcounter>1\global\c_steppoint=\numexpxr\c_steppoint-
\c_steppoint_temp\relax\fi
\xdef\currenttotalpoint{\numbexr\currentpointi%

\else%

\xdef\currenttotalpoint{\numbex\c_steppoint$¥%

\£i%

\fi
%

\def\install answer[#1]3%
\edef\p_showanswer{\csname #lparameter\endcsname\c!showanswer}%
\ifempty\p_showanswer\else
\ifx\p_showanswer\s!true
\mode_showanswertrue
\else\mode_showanswerfalse
\fi\fi
\ifx\currentmode\c!answexr
\ifdefined\currentanswer\edef\prevanswer{\currentanswer}i\fi
\edef\p_answeri\csname #lparameter\endcsname\c!answex?% 7 T %
\ifenv_subwriting\edef\p_answer{\writingparameter\c!answert\£fi
\ifempty\p_answer
\edef\currentanswer{\prevanswer}%
\else%
\edef\currentanswer{\csname #lparameter\endcsname\c!answer¥
\ifdefined\prevanswer
\ifempty\prevanswer\else
\ifx\currentanswer\prevanswer\relax\else
\writestatusiquestion info#i%
\currentuserorder : Two conflicting answers have been detected,
check and delete unnecessary answers. %
\writestatusiquestion info${%

\string\prevanswer : \prevanswer .
\string\currentanswer : \currentanswer .$%%
\fi
\fi
\fi
\fi
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617 \fit

618 \tolerant\protected\def\show_pointoranswer_text [#1]#x[#2]$3

619 \unskip\csname #1parameter\endcsnameii#2style}%

620 \switchtocolox[\csname #l1parameter\endcsnamei#2color}]%

621 \paren {\csname left assigned#2label\endcsname % like=>answer : blabla

622 \ifx\currentmode\c!point¥% if #2 = point

623 \ifenv_toplevel

624 \point_totalpoint

625 \else

626 \ifenv_answer\point_point\else

627 \currentpoint\fi

628 \fi

629 \else% if #2 = answer, EHA currentXXXanswer = & XK AW,
630 \ifmode_example You're in EXAMPLE MODE!\else

631 \ifenv_writing\short_writing_answer\else

632 \datasetvariable{Answer collectort{\QuestionID¢sanswert\fi
633 \fi% EEEEEW QID £ %

634 \fi

635 \csname right_assigned#2label\endcsname?$?

636 \def\p_assigned_currentlabel#1#2{%

637 \expandafter\edef’

638 \csname p_current#l#2label®

639 \expandafter\expandaftexr?

640 \expandafter\endcsname’

641 \expandafter\expandafter’

642 \expandafter{%

643 \csname #l1parameter\endcsnameii#2label}i?}

644 \def\p_pass_currentlabel[#1]$\p_assign_currentlabel [#1,,]}

645 \def\p_assign_currentlabel [#1,#2,#3]#4%

646 i\expandafter\def\csname left assignedi#4label\endcsname {#11%
647 \expandafter\def\csname right_assigned#4label\endcsname {#2%}

648  \tolerant\protected\def\installpointoranswer [#1]#x[#2]{%#1 parameter %#2 modename

649 \edef\currentmode{#2}% check point or answer
650 \install_point[4#1]%
651 \install answer[#1]%

652 \p_assigned_currentlabel {#1%{#21%
653 \expandafter\expandafter’

654 \expandafter\p_pass_currentlabel

655 \expandafter\expandaftexr?

656 \expandafter[%

657 \csname p_currenti#l#2label\endcsname] $#2%%
658 \begingroup

659 \csname ifmode showi#2\endcsname

660 \show_pointoranswer_text [#1] [#2]%

661 \fi\endgroup?

662  \defineconversion[tnum] [\addff{tabularnumberst]
663 \protected\def\installitemgroupoption[#1] [#2]{%
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664 \setupitemgroup[env_#1][each][

665 \c!maxrgin={\csname #2parameter\endcsname\c!margint,h %

666 \c!leftmargin={\csname #2parameter\endcsname\c!leftmargint,h %

667 \c!rightmargin={\csname i#2parameter\endcsname\c!rightmargint k%
668 \c!leftmargindistance={\csname #2parameter\endcsname\c!leftmargindistance
669 1,%

670 \c!rightmargindistance={\csname #2parameter\endcsname\c!rightmargindistance
671 , 9%

672 \c!indentnext={\csname #2parameter\endcsname\c!indentnext?,6%

673 \c!width={\csname #2parameter\endcsname\c!width}, %

674 \c!factor={\csname #2parameter\endcsname\c!factoxr}, %

675 \c!distance={\csname #2parameter\endcsname\c!distance}, %

676 \c!step={\csname #2parameter\endcsname\c!step},6 %

677 \c!align={\csname #2parameter\endcsname\c!align?, %

678 \c!symalign={\csname #2parameter\endcsname\c!symalign}, %

679 \c!color={\csname i#2parameter\endcsname\c!colox}, %

680 \c!indenting={\csname #2parameter\endcsname\c!indenting} %

681 \c!style={\csname #2parameter\endcsname\c!style},K %

682 \c!marstyle={\csname i#2parameter\endcsname\c!marstyle},k %

683 \c!symstyle={\csname #2parameter\endcsname\c!symstyle}, %

684 \c!headstyle={\csname #2parameter\endcsname\c!headstyle},k %

685 \c!maxrcolor={\csname #2parameter\endcsname\c!marcoloxr}, %

686 \c!symcolor={\csname i#2parameter\endcsname\c!symcoloxr}, %

687 \c'!headcolor=7\csname #2parameter\endcsname\c!headcolor},6 %

688 \c!beforehead={\csname #2parameter\endcsname\c!beforehead?,6 %

689 \c!symcolor={\csname #2parameter\endcsname\c!symcoloxr}, %

690 \c!symstyle={\csname #2parameter\endcsname\c!symstyle}, %

691 \c!afterhead={\csname #2parameter\endcsname\c!afterhead?,h %

692 \c!before={\csname #2parameter\endcsname\c!beforet,h %

693 \c!inbetween={\csname #2parameter\endcsname\c!inbetween}, %

694 \c!after={\csname #2parameter\endcsname\c!after}, %

695 \c!stopper={\csname #2parameter\endcsname\c!stopper:,%

696 \c!placestopper={\csname #2parameter\endcsname\c!placestopper?, %
697 \c!stopper={\csname #2parameter\endcsname\c!stopper?, %

698 \c!innexr={\csname #2parameter\endcsname\c!inner}, %

699 \c!n={\csname #2parameter\endcsname\c!n}, K%

700 \c!items={\csname #2parameter\endcsname\c!items}, %

701 \c!levels={\csname #2parameter\endcsname\c!levelst,K %

702 \c!lefttext={\csname #2parameter\endcsname\c!lefttext},K %

703 \c!righttext={\csname #2parameter\endcsname\c!righttext}, K%

704 \c!left={\csname #2parameter\endcsname\c!left?},6 %

705 \c!right={\csname #2parameter\endcsname\c!right? %

706 \c!packcriterium={\csname #2parameter\endcsname\c!packcriterium}, %
707 \c!criterium={\csname #2parameter\endcsname\c!criterium}, %

708 \c!textdistance={\csname #2parameter\endcsname\c!textdistance}?, %
709 \c!lasttextseparator={\csname i#2parameter\endcsname\c!lasttextseparator
710 %

711 \c!lasttextseparator={\csname #2parameter\endcsname\c!lasttextseparator
712 %

713 \c!command={\csname #2parameter\endcsname\c!command?, K%

714 \c!indenting={\csname #2parameter\endcsname\c!indenting?, K%
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715 \c!alignsymbol={\csname #2parameter\endcsname\c!alignsymbol?, %

716 \c!symbol={\csname #2parameter\endcsname\c!symbol?}, K %

717 \c!option={\csname #2parameter\endcsname\c!optiont,h %

718 % \c!start={\csname #2parameter\endcsname\c!start},%

719 \c!start={\csname #2parameter\endcsname\c!start},6 %

720 \c!state={\csname #2parameter\endcsname\c!state},% % beware, ""

721 == start

722 \c!way={\csname #2parameter\endcsname\c!way?,% % wont work if

723 continue on

724 \c!prefix={\csname #2parameter\endcsname\c!prefixt, K%

725 \c!prefixseparatorset={\csname #2parameter\endcsname\c!prefixseparatorset
726 , %

727 \c!prefixconversion={\csname #2parameter\endcsname\c!prefixconversion

728 , %

729 \c!prefixconversionset={\csname #2parameter\endcsname\c!prefixconversionset
730 %

731 \c!prefixstarter={\csname #2parameter\endcsname\c!prefixstarter},K %

732 \c!prefixstopper={\csname i#2parameter\endcsname\c!prefixstopper?, %

733 \c!prefixset={\csname #2parameter\endcsname\c!prefixset?,6 %

734 \c!prefixsegments={\csname #2parameter\endcsname\c!prefixsegmentst,K %

735 \c!prefixset=7\csname #2parameter\endcsname\c!prefixseti,6 %

736 \c!prefixconnector={\csname #2parameter\endcsname\c!prefixconnector},

737 %

738 \c!numberseparatorset=4\csname #2parameter\endcsname\c!numberseparatorset
739 , %

740 \c!numberconversion={\csname #2parameter\endcsname\c!numberconversion

741 , 9%

742 \c!numberconversionset={\csname #2parameter\endcsname\c!numberconversionset
743 , %

744 \c!numberstarter={\csname #2parameter\endcsname\c!numberstarter},k %

745 \c!numberstopper={\csname #2parameter\endcsname\c!numberstopper},?

746 \c!numbersegments={\csname #2parameter\endcsname\c!numbersegments?,

747 % \c!prefix={\csname #2parameter\endcsname\c!prefix},%

748 % \c!prefixstopper={\csname #2parameter\endcsname\c!prefixstoppert,%

749 % \c!prefixseparatorset={\csname #2parameter\endcsname\c!prefixseparatorseti¥
750

751 % \cl!prefixconversion={\csname #2parameter\endcsname\c!prefixconversioni}%
752

753 % \c!prefixconversionset={\csname #2parameter\endcsname\c!prefixconversionseti}%
754

755 % \c!prefixset={\csname #2parameter\endcsname\c!prefixset?,%

756 % \c!prefixsegments={\csname #2parameter\endcsname\c!prefixsegmentsi®

757

758 % \c!prefixconnector={\csname #2parameter\endcsname\c!prefixconnector}%
759

760 % \c!numberseparatorset={\csname #2parameter\endcsname\c!numberseparatorseti®
761

762 % \c!numberconversionset={\csname #2parameter\endcsname\c!numberconversionset}{%
763

764 % \c!numberstopper={\csname #2parameter\endcsname\c!numberstopper},%

765 9% \c!numbersegments={\csname #2parameter\endcsname\c!numbersegmentsy,
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766 1%
767 %

768 \protected\def\installcounteroption[#1] [#2]1%
769 \cdef\currentenv_counter{\v_strc_itemgroups_countert¥
770 ¢
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6 i%¥ problem ¥} / Problem Environment

The environment \problem command can set up multiple aggregate issues, and the environment has a
specific subcommand \pitem to list each issue. It can be used to set fill-in-the-blank, Q&A, and other

questions.

\startproblem

\startpitem The environment is located in: \currentitemgroup . \stoppitem
\startpitem The environment is located in: \currentitemgroup . \stoppitem
\startpitem The environment is located in: \currentitemgroup . \stoppitem
\stopproblem

1.The environment is located in: env_problem:1,
2.The environment is located in: env_problem:1,
3.The environment is located in: env_problem:1,

The problem environment only inherits the key-value pairs from the itemgroup environment and does
not set any new key-values. In the current version (v20241023) , the settings for answers and scores
have been removed. Because, under the problem environment, there are usually many pitems, and each
question may have its own score and answer. Therefore, for design purposes, the answers and scores of
each question are directly set through \pitem.

\startproblem
\startpitem[showpoint=true,point=5] The environment is located in:

\currentitemgroup . \stoppitem
\startpitem[showanswer=true,answer={newer}] The environment is located in:
\currentitemgroup. \stoppitem

\startpitem[] The environment is located in: \currentitemgroup .
\stoppitem

\stopproblem

1. (5pts) The environment is located in: env_problem:1,
2.(answer:newer) The environment is located in: env_problem:1,
3. The environment is located in: env_problem:1,

Unlike the \question environment, where all ordinal numbers are sequential, the \problem environ-
ment is recounted each time it starts.

If you want to add stems to the \problem environment, you can place the \problem environment in the
\question environment.

\startquestion

The environment is located in: \currentitemgroup .
\startproblem[left={(},right={)},distance=1em, stopper=1i#]
\startpitem The environment is located in: \currentitemgroup . \stoppitem
\startpitem The environment is located in: \currentitemgroup . \stoppitem
\startpitem The environment is located in: \currentitemgroup . \stoppitem
\stopproblem

\stopquestion
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1. The environment is located in: env_question:1,
(1) The environment is located in: env_problem:2,
(2) The environment is located in: env_problem:2,
(3) The environment is located in: env_problem:2,

If you want to set a fill-in-the-blank question, you can use the \fillin command. The use of \fillin
and \startanswer will be mentioned later.

\setupanswer [showanswer=true]
\startquestion
The environment is located in: \currentitemgroup .
\setuppitem[showanswer=true]
\startproblem[left=4%(},right={)*%,distance=1em, stopper=4}]
\startpitem The environment is located in: \fillin{env_question:1}, \stoppitem
\startanswer\input knuthmath\stopanswer
\startpitem The environment is located in: \fillin[mp=rules:under:wave]
ienv_question:1%, \stoppitem
\startanswer\input knuthmath\stopanswer
\startpitem
The environment is located in: \fillin[empty=number]{env_question:2%,
\stoppitem
\startanswer\input knuthmath\stopanswer
\startpitem The environment is located in: \fillin[empty=yes]ienv_question:3%,
\stoppitem
\startanswer\input knuthmath\stopanswer
\startpitem The environment is located in: \fillin[empty=yes,left={ (%, right={)#]
ienv_question:4%, \stoppitem
\startanswer\input knuthmath\stopanswer
\stopproblem
\stopqguestion
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2. The environment is located in: env_question:1,
(1) (answer:env_question:1)The environment is located in:__env_gquestion:1

(answer:env_question:1)(0Opts)

Many readers will skim over formulas on their first reading of your exposition. Therefore, your sen-
tences should flow smoothly when all but the simplest formulas are replaced by “blah” or some other
grunting noise.

(2) (answer:env_question:1)The environment is located in: __env_question:l .

(answer:env_question:1)(0Opts)

Many readers will skim over formulas on their first reading of your exposition. Therefore, your sen-
tences should flow smoothly when all but the simplest formulas are replaced by “blah” or some other
grunting noise.

(3) (answer:env_question:2)The environment is located in:__env_question:2

(answer:env_question:2)(0Opts)

Many readers will skim over formulas on their first reading of your exposition. Therefore, your sen-
tences should flow smoothly when all but the simplest formulas are replaced by “blah” or some other
grunting noise.

(4) (answer:env_question:3)The environment is located in:__env_question:3

(answer:env_question:3)(0pts)

Many readers will skim over formulas on their first reading of your exposition. Therefore, your sen-
tences should flow smoothly when all but the simplest formulas are replaced by “blah” or some other
grunting noise.

(5) (answer:env_question:4)The environment is located in:((__env_question:4 )),

(answer:env_question:4)(0pts)

Many readers will skim over formulas on their first reading of your exposition. Therefore, your sen-
tences should flow smoothly when all but the simplest formulas are replaced by “blah” or some other
grunting noise.

In addition to this, you can define a new problem environment via \defineproblem[XXX] , which will
generate two new commands \startXxX, \ \stopXXX

\installnamespace iproblem?
\installcommandhandler \????problem {problem} \2??2?problem

\appendtoks
\setuevalue{\e!start\currentproblemt{\startnamedproblem[\currentproblem] %
\setuevalue}\e!stop \currentproblem}3\stopnamedproblem?}%

\to \everydefineproblem

\tolerant\protected\def\startnamedproblem [#S#1]#x [#SH#2] 1%
\scratchcounterone\currentitemnumber\relax
\begingroup\env_problemtrue\set_envitem_counter
\def\currentproblemi#l}t\setupcurrentproblem[#2]%
\edef\p_defaultoptionin, packed,nowhite, joinedup}%
\edef\p_option{\problemparameter\c!option?
\installitemgroupoption[problem] [problem]?%

CONTEXT 30 basicexam



784
785
786
787
788
789

803
804
805
806
807
808
809
810
811
812
813
814
815
816
817
818
819
820
821
822
823
824
825
826
827
828
829
830
831
832

31 t-basicexam

Memoir Ever

\startitemgroup[env_problem]%
\set_count_envlevel [problem]%
\ifenv_toplevel\else
\decreaseQuestionID

arentitemnumber=\scratchcounterone\relax% ® £ H question i ID
\p q

\fi\removeunwantedspaces?

\protected\def\stopnamedproblem{%
\installdatacollectorhelper%
\initcollectanswer
\stopitemgroup\endgroup?

\setupproblem
[\c!margin=\zeropoint,
\c!leftmargin=\zeropoint,
\c!rightmargin=\zeropoint,
\c!leftmargindistance=\zeropoint,
\c!rightmargindistance=\zeropoint,
\c!indentnext=\v!yes,
\c!width=.5\emwidth,
\c!factor=0,
\c!step=.5\emwidth, 9% deals with broad
\c!distance=.5\emwidth,
%\clalign=\v!normal, % definitely not \v!normal !
%\c!symalign=,
%\c!color=,
%\clindenting=, % untouched if empty
%\cl!style=,
\c!marstyle=\v!type,
%\c!symstyle=,
%\c!headstyle=,
%\c!marcolor=,
%\c!symcolor=,
%\c!headcolor=,
%\c!beforehead=,
\c!symcolor=\itemgroupparameter\c!coloxr, % new per 2012.01.17
\c!symstyle=\itemgroupparameter\c!style, % new per 2012.01.17
\c!afterhead=\blank,
\c!before=,
\c!inbetween=,
\c!after=,
%\c!stopper=.,
\c!placestopper=\v!yes,
\c!stopper=1{. 1,
%\c!inner=,
\c!n=2,
\c!items=4,
\c!levels=10,
\c!lefttext={ (%},
\c!righttext=1)},
\c!start=1,

basicexam 31

CONTEXT



Memoir Ever

833 \c!packcriterium=\zerocount,

834 \c!criterium=\v!all, % permits O and negative numbers

835 \cl!option=i{n,packed, joinedup,nowhite}?,

836 \c!textdistance=\v!space, % none big medium small <dimension>
837 \c!lasttextseparator=\itemgroupparameter\c!textseparator,
838 %\c!lasttextseparator=,

839 \c!command=\strc_itemgroups_default_command,

840 \c!indenting=\v!next,

841 %\clalignsymbol=v!no,

842 \c!symbol=\currentitemlevel,

843 \c!prefix=\v!no,

844 %\c!prefixstopper=.,

845 %\c!prefixseparatorset=,

846 %\c!prefixconversion=,

847 %\c!prefixconversionset=,

848 %\c!prefixset=,
849 %\c!prefixsegments=1:100,

850 \c!prefixconnector=.,

851 \c!numberseparatorset=,
852 \c!numberconversionset=,
853 \c!numberstopper=.,

854 \c!numbersegments=1,

855 \c!numbexconversion=tnum, ]

856 \defineproblem[problem]
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% H question 5

The \question environment command can be used to set the stem. Simply wrap the stem between
the \startquestion \stopquestion commands. At the same time, we have defined a short command
\question, which is used as a synonym for \startquestion \stopquestion

\startquestion

The environment is located in: \currentitemgroup .
\stopquestion

\startquestion

The environment is located in: \currentitemgroup .
\stopqguestion

\question {The environment is located in: \currentitemgroup ., *

3. The environment is located in: env_question:1,
4. The environment is located in: env_question:1,
5. The environment is located in: env_question:1,

The \question environment command inherits the option settings for the \itemgroup environment.
Therefore, you can modify the environment using \setupquestion in the same way you modify \ item-

group.

\setupquestion[color=green,style=\ss,start=22,
option={n,packed, joinedup,nowhite, ¢]
\startquestion
The environment is located in: \currentitemgroup.

\stopquestion

The environment is located in: env_question:1,

question IRBEA] AR BE RN, ZIETEMINEE T :

showanswer answer answerstyle answercolor
answerlabel  answerlabel

showpoint point pointstyle pointcolor
pointprelabel pointlabel

\startquestion[showpoint=true,point=5,pointlabel={points},
showanswer=true,answer={new answer},answerstyle=$\tt},]
The environment is located in: \currentitemgroup .
\stopquestion

23.(points5) (answer:new answer) The environment is located in: env_question:1,

Ak, question BB T — MR EE example=true, 7 DURYHIEEH FHEFAE LR, £(120241023)H,
WA REFERTRIZET example FRISE T AZHE BRI FE 1, 8F, ATLUSZE —~MEE, ki
E example Z G HZEEN 1 BE#ES: E—1MNFE, AN, BT question NE T — item, [KA] DA
F reference KBS,
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B2 point fll answer FEE: point I EEREE —BEE B VA B, WRERITIRES problem, RE
Z3H pitem g% 5T point F/HE, B E HEIE A, answer FEEZ —H, TERRETRE, pitem ERER
EEZMEFIEE T, iR, GfER—E question BN, HEMETER, TR 5% F A —
Ve A ERIRIENE R, FIEENERE, S8 question BRENH A choice ¥ilE, REEEHIEA question F&
Bt B EHIA], choice BRBE ARERCLE 73 8L,

\installnamespace {questiont
\installcommandhandlexr \????question {questiont \????question

\appendtoks

\setuevalue i\currentquestion}{\directnamedquestion[\currentquestion]$%
\setuevalue}\e!start\currentquestionti\startnamedquestion [\currentquestion]%
\setuevaluei\e!stop \currentquestion}{\stopnamedquestiont%

\to \everydefinequestion

\tolerant\protected\def\directnamedquestion [#S#1]#x [#S#2] 1%
\groupedcommand?{ \startnamedquestion [#1] [#2] %%
{\stopnamedquestiont?

\tolerant\protected\def\startnamedquestion [#S#1]x [#S#2]%
i\begingroup\env_questiontrue\set_envitem_counter%%
\def\currentquestioni#l}t\setupcurrentquestion [#2]%
\example_toggle[question]¥% Ml &% F B example_mode
\edef\p_class{\questionparameter\c!classt%
\edef\p_start{i\questionparameter\c!starti¥
\edef\p_reseti\questionparameter\c!reset}¥
\edef\p_option{\questionparameter\cloptiont¥
\edef\p_defaultoptionin, packed, nowhite,joinedup,continue}
\edef\p_class_optclosefoptcloset%
\ifx\p_class\p_class_optclose
\env_closetrue\set _envitem_counter
\fi
\ifx\p_reset\s!true
\resetcounter[itemgroup:env_question]¥
\fi
\installitemgroupoption[question] [question]%
\startitemgroup[env_question]¥
\ifx\p_class\p_class_optclose
\leftskip=0pt\relax
\else
\item[\questionparameter\c!reference]%
\increaseQuestionID% EHMEIA%E, #E 0ID
\fi
\set_count_envlevel [question]%
\ifx\p_class\p_class_optclose\else
\installpointoranswer[question] [point]%
\installpointoranswer[question] [answer]\fi
\save_question_order\removeunwantedspaces}

\protected\def\stopnamedquestioni®
\ifnum\c_envcounter_toggle=1\relax
\installdatacollectorhelper%
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899 \installdatacollector\£i%

900 \initcollectanswer

901 \stopitemgroup\endgroup’

902 \ifnum\c_envcounter_toggle=999\relax®
903 \resetcounter [itemgroup:env_question]¥
904 \fit

905 \definequestion[question]

906  \setupquestion

907 %example=,

908 %showpoint=false,

909 %point=,

910 pointstyle=\ttx,

911 %pointcolor=,

912 %pointprelabel=,

913 pointlabel={, \examtextsipointti,
914 %showanswer=false,

915 %answer=,

916 answerlabel={\examtexts{answer}, {,
917 answerstyle=\ss,

918 answercolor=red,

919 indenting=no,

920 way=bychapter,

921 numberconversion=tnum, ]

922  \setupquestion

923 [\c!margin=\zeropoint,

924 \c!leftmargin=\zeropoint,

925 \c!rightmargin=\zeropoint,

926 \c!leftmargindistance=\zeropoint,

927 \c!rightmargindistance=\zeropoint,

928 \c!indentnext=\v!yes,

929 \c!width=1.5\emwidth,

930 \c!factor=0,

931 \c!step=.5\emwidth, 9% deals with broad
932 \c!distance=\zeropoint,

933 %\clalign=\v!normal, % definitely not \v!normal !

934 %\c!symalign=,

935 %\c!color=,

936 %\c!indenting=, % untouched if empty

937 %\c!style=,

938 \c!marstyle=\v!type,

939 %\c!symstyle=,

940 %\c!headstyle=,

941 %\c!marcolor=,

942 %\c!symcolor=,

943 %\c!headcolor=,

944 %\c!beforehead=,

945 \c!symcolor=\itemgroupparameter\c!colox, % new per 2012.01.17
946 \c!symstyle=\itemgroupparameter\c!style, % new per 2012.01.17
947 \c!afterhead=\blank,
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\c!before=,
\c!inbetween=,
\c!after=,
%\c!stopper=.,
\c!placestopper=\v!yes,
\c!stopper={. 1,
%\c!inner=,

\c!n=2,

\c!items=4,
\c!levels=10,
\c!lefttext=,
\c!righttext=,
\c!start=1,
\c!packcriterium=\zerocount,

\c!criterium=\v!all, % permits O and negative numbers
\cloption=i{n, packed, joinedup,nowhite,continue},
\c!textdistance=\v!space, 9% none big medium small <dimension>
\c!lasttextseparator=\itemgroupparameter\c!textseparator,

%\c!lasttextseparator=,

\c!command=\strc_itemgroups_default_command,

\c!indenting=\v!next,
%\clalignsymbol=v!no,
\c!symbol=\currentitemlevel,
\c!prefix=\v!no,
%\c!prefixstopper=.,
%\c!prefixseparatorset=,
%\c!prefixconversion=,
%\c!prefixconversionset=,
%\c!prefixset=,
%\c!prefixsegments=1:100,
\c!prefixconnector=.,
\c!numberseparatorset=,
\c!numbexconversionset=,
\c!numberstopper=.,
\c!numbersegments=1]

basicexam
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%' choice ¥4

IR HAEEN \question B N, sZRIEA—MFIHHE: \startcitem \stopcitem,
\startcitem {3 N AT \stopcitem

AIDUEIE [+] REBRCEMESR, MRS ELRE NS EREZRM [+] B,

\setupquestion[showanswer=true]
\startquestion
The environment is located in: \currentitemgroup .
\startchoice
\startcitem[%]$Some Words}\stopcitem
\startcitem{Some Words¥\stopcitem
\startcitem[%]3$Some Words}\stopcitem
\startcitem{Some Wordst\stopcitem
\stopchoice
\stopquestion
\startquestion
The environment is located in: \currentitemgroup .
\startchoice
\startcitem{Some More Words}\stopcitem
\startcitem{Some More Words}\stopcitem
\startcitem[%x]3$Some More Words}\stopcitem
\startcitem[%]3$Some More Words}\stopcitem
\stopchoice
\stopquestion
\startquestion
The environment is located in: \currentitemgroup .
\startchoice
\startcitem{Some More More Words}\stopcitem
\startcitem[%«]$Some More More Wordst\stopcitem
\startcitem{Some More More Words}\stopcitem
\startcitem[*]{Some More More Words}\stopcitem
\stopchoice
\stopquestion

24.(answer:A,C)The environment is located in: env_question:1,

A. Some Words B. Some Words C. Some Words D. Some Words
25.(answer:C,D)The environment is located in: env_question:1,

A. Some More Words B. Some More Words C. Some More Words D. Some More Words
26.(answer:B,D)The environment is located in: env_question:1,

A. Some More More Words B. Some More More Words

C. Some More More Words D. Some More More Words

[l 2 \startcitem\stopcitem ®F T HFE M2 \citem fl \fragilecitem, \fragileciteman & HJ
DA FLE TR SRR HE ORI, ERTRE S5 [ BRAIME, FREEEPSE SR, \citem HIFREEIEA
BIEAEFESR,

\citem {EIE AT
\fragilecitem #E py &
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ZIRGEAR AR T —HB 5> itemgroup MVHEE, BUANIFRI L —F, TFT question HE-Hanswer F point Fiff
HE, ZIIRREA answer MHXNEE, REIHNILGE RS B REEMACEZE RN, KN choice IREMIRE
Bk, point #{EIET question K ER, Fl question ERIRIVIE B2 question IR answer 2l &£ 2
B ERIEB T AR S BEREAER,  choice PR answer #4522 75 BoRFEIE TR AR % B EAE R,

% 4h, choice BB A — MK B : maxiwidth key is for calcaluted max width of choice and waited
to be compare, notice this key is maxiwidth ,and difference from maxwidth which for setupitemgroup
command

\installnamespace fchoicet
\installcommandhandlex \????choice schoicet \????choice

\appendtoks

\setuevalue i\currentchoicets\directnamedchoice[\currentchoice] %
\setuevaluei\e!start\currentchoice?t{\startnamedchoice [\currentchoice]$%
\setuevaluei\e!stop \currentchoiceti\stopnamedchoicet%

\to \everydefinechoice

\setupchoice [answerstyle=\ss\tf,
answercolor=red,
inlinechoice=false,
point=\questionparameter\c!point,
maxiwidth=.9\textwidth,
numberconversion=A, ]

\tolerant\protected\def\directnamedchoice [#1] 4 [#2] it 3%
{\begingroup
\def\currentchoicei#l}t\setupcurrentchoice[#2]%
\startnamedchoice [#1]%
\def\citem_tempi#li\startcitemiHil\stopcitemt¥
\def\correcti#lsiH1\collectanswers#FL1EE%
\processcommacommand [#3]\citem_temp
\stopnamedchoice\endgroup}

\tolerant\protected\def\startnamedchoice [#S#1]#x [#S#2]%
i\begingroup\def\currentchoice{#1}%
\ifnum\c_envcounter_toggle = 2\relax
\errmessage{you cannot put choice in problem environment.
choice env can only be putted in question environment.$\fi
\env_choicetrue\set _envitem counter
\ifdefined\currentuserorder
\expandafter\show_check_infoi\check_info}%
\else
\ifnum\c_envcounter_toggle = 3\relax
\else \set count_envlevel[choice]\fi
\fi
\doifelsesomethingi{\datasetvariable{Answer_collectorhelper}{\HelperID¢{
totalitemnumber$$% arg 1
i{\scratchcounter\datasetvariable{Answer collectorhelper${\HelperID}3
totalitemnumberti®% arg 2
i\scratchcounter\zerocount?(¥ arg 3
\current_total choice_number=\number\scratchcountexr\relax
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1022 \doifelsesomething{\datasetvariable{Answer collectorhelper}{\HelperID%{

1023 availablecolumnst$%

1624 i\scratchcounter\datasetvariable{Answer_collectorhelper}i\HelperID#}i
1025 availablecolumns#}%

1026 i\scratchcounter\zerocount}%

1027 \current_available columns=\number\scratchcounter\relax

1028 \startluacode
1029 tbl_num_temp = {"one","two","three", "four",

1030 "five", "six", "seven","eight","nine"¢

1031 local tbl cit_count = tex.count['current_total choice_number"']
1032 local available columns = tex.count['current available columns']
1033 available_columns_arg = ""

1034 if (tbl_cit_count == 3) and (available_columns < tbl_cit_count)
1035 then available_columns_arg = "one"

1036 elseif (tbl cit_count > 1) and (available_columns >= tbl _cit_count)
1037 then available_columns_arg = "horizontal,™ .. tbl_num_temp[tbhl_cit_count]
1038 elseif (tbl cit _count >= 1) and (available_columns <= 1)

1039 then available_columns_arg = "one"

1040 else available_columns_arg = "horizontal, two"

1041 end
1042 \stopluacode
1043 \edef\currentrealavailablecolumns{\ctxluafcontext(available_columns_arg,"")3}%

1044 \setupcurrentchoice[#2]%

1045 \edef\currentanswer {\choiceparameter\c!answer %

1046 \edef\p_option i\choiceparameter\c!option %

1047 \edef\p_showanswer {\choiceparameter\c!showanswer %%
1048 \edef\p_choicetype {\choiceparameter\c!inlinechoice}%
1049 \edef\p_correctsymbol{\choiceparametericorrectsymbol¥$%
1050 \edef\p_defaultoption{A, packed,nowhite, joinedupi}%

1051 \installitemgroupoption[choice] [choice]%

1052 \ifx\p_choicetype\s!true

1053 \startitemgroup[env_choice] [text,\p_option]\else

1054 \startitemgroup[env_choice] [\ctxluafcontext(available_columns_arg,"")}%,
1055 \p_option]\fi

1056 \choiceparameter\c!inlineleft

1057 \ifmode_showanswer\else

1058 \ifx\p_showanswer\s!true

1059 \mode_showanswertrue

1060 \else\mode showanswerfalse\fi

1061 \fi\removeunwantedspaces?

1062 \protected\def\stopnamedchoice{%

1063 \removemarkedcontent[inlinechoice_punctuation]?

1064 \d_maxwidth_with_label = \dimexpxr\d_width_cit_max +

1065 \d_strc_itemgroups_list_width \relax

1066 \d_compared_maxwidth = \choiceparameterimaxiwidth? \relax
1067 \startluacode

1068 local a = tex.dimen['d_compared_maxwidth']

1069 local b = tex.dimen['d_maxwidth_with_label']

1070 ¢ = math.flooxr(a/b)

1071 \stopluacode
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\edef\currentchoiceanswers\collectedanswert%
\ifempty\currentchoiceanswer
\edef\currentanswer{\prevanswer}?% # choice #&H —HE%E
\else

\edef\currentansweri\collectedanswert%

\fi
\def\currentavailablecolumns{\ctxluafcontext(c,"")$ %
\def\currentitemmaxwidth $\the\d_width_cit_max}%
\doifelsesomething{\choiceparameter\c!pointi%
{\scratchcountertwo\choiceparameter\c!point}%
{\scratchcountexrtwo\zerocount?%

\edef\currentpoint {\the\scratchcountexrtwo?%
\edef\currenttotalpoint{\the\scratchcountertwoi%
\installdatacollector%

\installdatacollectorhelper%

\initcollectanswer

\choiceparameter\c!inlineright

\stopitemgroup

\endgroup?

\setupchoice

[\c!margin=\zeropoint,
\c!leftmargin=\zeropoint,
\c!rightmargin=\zeropoint,
\c!leftmargindistance=\zeropoint,
\c!rightmargindistance=\zeropoint,
\c!indentnext=\v!yes,
\c!width=1\emwidth,

\c!factor=0,

\c!step=.5\emwidth, % deals with broad
\c!distance=.5\emwidth,
%\clalign=\v!normal, % definitely not \v!normal !
%\c!symalign=,

%\c!color=,

%\c!indenting=, % untouched if empty
%\c!style=,

\c!marstyle=\v!type,

%\c!symstyle=,

%\c!headstyle=,

%\c!marcolor=,

%\c!symcolor=,

%\c!headcolor=,

%\c!beforehead=,

\c!symcoloxr=\itemgroupparameter\c!coloxr, % new per 2012.01.

17

\c!symstyle=\itemgroupparameter\c!style, % new per 2012.01.17

\c!afterhead=\blank,
\c!before=,
\c!inbetween=,
\c!after=,
%\c!stopper=.,
\c!placestopper=\v!yes,
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1122 \c!stopper=1{. i,
1123 %\c!inner=,

1124 \c!n=2,

1125 \c!items=4,

1126 \c!levels=10,

1127 \c!lefttext=,
1128 \c!righttext=,

1129 \c!start=1,

1130 \c!packcriterium=\zerocount,

1131 \c!criterium=\v!all, % permits O and negative numbers
1132 \cl!option={A, packed, joinedup,nowhite,},

1133 \c!textdistance=\v!space, 9% none big medium small <dimension>
1134 \c!lasttextseparator=\itemgroupparameter\c!textseparator,
1135 %\c!lasttextseparator=,

1136 \c!command=\strc_itemgroups_default_command,

1137 \c!indenting=\v!next,

1138 %\clalignsymbol=v!no,

1139 \c!symbol=\currentitemlevel,

1140 \c!prefix=\v!no,

1141 %\c!prefixstopper=.,

1142 %\c!prefixseparatorset=,
1143 %\c!prefixconversion=,
1144 %\c!prefixconversionset=,
1145 %\c!prefixset=,

1146 %\c!prefixsegments=1:100,

1147 \c!prefixconnector=.,
1148 \c!numberseparatorset=,
1149 \c!numbexconversionset=,
1150 \c!numberstopper=.,

1151 \c!numbersegments=1]

1152  \definechoice[choice]
1153  \definechoice[inlinechoice]
1154  \tolerant\def\setupinlinechoice[#1]{\setupchoice[inlinechoice] [#1]%

1155 \setupinlinechoice[option={text,8,packed, joinedup,nowhite,,

1156 inlinechoice=\s!true,

1157 correctsymbol=3\symbolimarksquarecheckt},
1158 inlineleft=% (\nobreak?,

1159 inlineright={\nobreak ) %,

1160 %lefttext=1}%,

1161 %righttext={%,

1162 answerstyle=\ss,

1163 %stopper=,

1164 %showanswer=,% shoule be empty before used
1165 separator=1\removeunwantedspaces, \space},
1166 ]
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9 ¥¢H writing A5

HATZME LT, RRERENZ MECGEE, RFZEMA writing SRR, HE2, 4—MEX
ETIEHAEZ N FEERN, FEE P8 HEKE subwriting IMNEYH,

\setupwriting[showanswer=true, showpoint=true]
\startwriting[point=45]
> AR B it
\startanswer
HEEX 1
\stopanswer
\stopwriting

\startwriting
1 AL B WA
\startsubwriting[point=450]
sub £ X H it ¥
\startanswer
HEEX 2
\stopanswer
\stopsubwriting
\startsubwriting[point=4588]
sub & XA E ¥
\startanswer
HHEEX 3
\stopanswer
\stopsubwriting
\stopwriting

27. (45pts)( B WS H/EX, )WESCEH M

(answer: 5 LA H4E X, )(45pts)
HEEL

28. (5038pts)(EWESHIEX, MWESGHE B 1HH
1. (450pts)(ENESHEMEL, )sub 7E i H A

(answer: % L5 4E L, )(450pts)
HHEEL 2

2. (4588pts)(EWSHEEX, )sub 1E3# B 1 BH

(answer: % A% 4k X, )(4588pts)
HEAE X3

1167 \installnamespace iwriting}
1168  \installcommandhandler \????writing {writing? \????writing

1169  \appendtoks

1170 \setuevaluei\e!start\currentwritingti\startnamedwriting[\currentwriting] %
1171 \setuevaluei\e!stop \currentwritingii\stopnamedwriting#%

11272 \to \everydefinewriting
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1201
1202
1203
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1205
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1207
1208
1209
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1213
1214
1215
1216

1217
1218
1219
1220
1221
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\tolerant\protected\def\startnamedwriting [#S#1]4#x [#S5#2]

{\begingroup\env_writingtrue\set_envitem_counter
\edef\currentwriting$#1%%
\setupanswer[showanswer=false]%

\setupcurrentwriting [#2]%F &, writing %A #ME itemgroup %
\edef\short_writing_answer{\writingparameter\c!answexr}%

\edef\currentanswer{\writingparameter\c!answeri%
\edef\getanswercontent{%
\edef\p_writingtypei\writingparameterisubwriting?#%
\installitemgroupoption[question] [writing]%
\startitemgroup[env_question]%
\item[\writingparameter\c!reference]%
\ifx\p_writingtype\s!true
\env_subwritingtrue
\set_envitem counter
\ifnum\currentitemnumber=1\relax
\decreaseQuestionID\increaseQuestionID
\else\increaseQuestionID\£fi
\set_count_itemlevel [subwriting]%
% LEHENTEEHFEE, ALK QID ,
% HMHMERXE QID (44 T4 %)
\else
\increaseQuestionID
\set_count_envlevel [writing]
\fi
\installpointoranswer[writing] [point]%
\installpointoranswer[writing] [answer]%
\save_question_order\removeunwantedspaces?}

\protected\def\stopnamedwriting$%

\ifnum\c_ totalitemnumber<2\relax% =& —1{i 7 EH
\ifenv_subwriting® = 71X
\installdatacollector%
\installdatacollectorhelper®
\initcollectanswer
\else% Z1{Ex
\edef\currentpointi\writingparameter\c!point?
\edef\currenttotalpointi\writingparameter\c!point}
\c_totalitemnumber=1\relax
\installdatacollector%
\installdatacollectorhelper%
\initcollectanswer
\fi

\else% ViH % {77 H

\fi\stopitemgroup\endgroup?

\setupwriting
[\c!answer={% NLE£EX, %,
\c!pointlabel=7{,6 \examtexts{point}},
\c!margin=\zeropoint,
\c!leftmargin=\zeropoint,
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1222 \c!rightmargin=\zeropoint,

1223 \c!leftmargindistance=\zeropoint,

1224 \c!rightmargindistance=\zeropoint,

1225 \c!indentnext=\v!yes,

1226 \c!width=1.5\emwidth,

1227 \c!factor=0,

1228 \c!step=.5\emwidth, 9% deals with broad
1229 \c!distance=\zeropoint,

1230 %\clalign=\v!normal, % definitely not \v!normal !

1231 %\c!symalign=,

1232 %\c!color=,

1233 %\c!indenting=, % untouched if empty

1234 %\c!style=,

1235 \c!marstyle=\v!type,

1236 %\c!symstyle=,

1237 %\c!headstyle=,

1238 %\c!marcolor=,

1239 %\c!symcolor=,

1240 %\c!headcolor=,

1241 %\c!beforehead=,

1242 \c!symcolor=\itemgroupparameter\c!coloxr, % new per 2012.01.17
1243 \c!symstyle=\itemgroupparameter\c!style, % new per 2012.01.17
1244 \c!afterhead=\blank,

1245 \c!before=,

1246 \c!inbetween=,

1247 \c!after=,

1248 %\c!stopper=.,

1249 \c!placestopper=\v!yes,

1250 \c!stopper=1{. 1,

1251 %\c!inner=,

1252 \c!n=2,

1253 \c!items=4,

1254 \c!levels=10,

1255 \c!lefttext=,

1256 \c!righttext=,

1257 \c!start=1,

1258 \c!packcriterium=\zerocount,

1259 \c!criterium=\v!all, % permits O and negative numbers
1260 \cloption=i{n, packed, joinedup,nowhite,continue},

1261 \c!textdistance=\v!space, 9% none big medium small <dimension>
1262 \c!lasttextseparator=\itemgroupparameter\c!textseparator,
1263 %\c!lasttextseparator=,

1264 \c!command=\strc_itemgroups_default_command,

1265 \c!indenting=\v!next,

1266 %\clalignsymbol=v!no,

1267 \c!symbol=\currentitemlevel,

1268 \c!prefix=\v!no,

1269 %\c!prefixstopper=.,

1270 %\c!prefixseparatorset=,
1271 %\c!prefixconversion=,
1272 %\c!prefixconversionset=,
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%\c!prefixset=,

%\c!prefixsegments=1:100,
\c!prefixconnector=.,
\c!numberseparatorset=,
\c!numberconversionset=,
\c!numberstopper=.,
\c!numbersegments=1]

\definewriting[writing]
\definewriting[subwriting]
\def\setupsubwriting$\setupwriting[subwriting]?
\setupsubwriting

[answer=$%& LB FE X, T,

subwriting=true,

pointlabel={, \examtextsipointti,]
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10 &H answer i3

£ (v20241023)7F, kR T answer BERIFREIEIT description KT E, BIKMIEIEIT textbackground
IR TIR B, ZIREIR ML T — (&R R AV SR ME sctipt, ZBETEHNRAIESE R, #Z#EM showanswer
BEROFN, FEZRREH,

\answer ;ZRAMEMMRFRBEN@S, HEMMZmSNHEREERA#HZNEZ R, ATRERZREENER
75, BURIEERCE AT H s AR, AT DR H AR5 A =T

\startquestion[showanswer=true,answer={answer for \currentitemgroup },point=12]
The environment is located in: \currentitemgroup .
ERE: \texfanswer} W ABBRXEHEBFFIRENEZTFLHAERE,
\startanswer
\input knuthmath
\stopanswer
\stopquestion
\startquestion[showanswer=true, point=1]]
The environment is located in: \currentitemgroup .
EE: \texianswer} FUERRKBHAEPR AN LR A LHFRAE,
\startchoice
\startcitem{Some Words¥t\stopcitem
\startcitem{Some Words¥$\stopcitem
\startcitem[%]3$Some Words}\stopcitem
\startcitem{Some Wordst\stopcitem
\stopchoice
\startanswer
\input knuthmath
\stopanswer
\stopqguestion

29.(answer:) The environment is located in: env_question:1, {£&: \answer ] DB BRI 8 R 4 IR
R E M AR E,

(answer:)(pts)
Many readers will skim over formulas on their first reading of your exposition. Therefore, your sen-
tences should flow smoothly when all but the simplest formulas are replaced by “blah” or some other

grunting noise.

30.(answer:C)] The environment is located in: env_question:1, {F&: \answer AJ DUERR IR RO [A 4R
B ERM AR E,
A. Some Words B. Some Words C. Some Words D. Some Words

(answer:C)(1pts)

Many readers will skim over formulas on their first reading of your exposition. Therefore, your sen-
tences should flow smoothly when all but the simplest formulas are replaced by “blah” or some other
grunting noise.

\startquestion[showanswer=true]
The environment is located in: \currentitemgroup .
\startproblem[showanswer=true,left={(%,right={)},distance=1em, stopper=$%]
\startpitem[showanswer=true,answer={Pitem 1}, point=10]
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The environment is located in: \currentitemgroup. \stoppitem
\startanswer
\input knuthmath
\stopanswer
\startpitem[showanswer=true,answer={Pitem 2}, point=20]
The environment is located in: \currentitemgroup., \stoppitem
\startanswer
\input knuthmath
\stopanswer
\startpitem[showanswer=true,answer={Pitem 3}, point=30]
The environment is located in: \currentitemgroup. \stoppitem
\startanswer
\input knuthmath
\stopanswer
\stopproblem
\stopquestion

31.(answer:Pitem 1) The environment is located in: env_question:1,
(1) (answer:Pitem 1) The environment is located in: env_problem:2,

(answer:Pitem 1)(10pts)

Many readers will skim over formulas on their first reading of your exposition. Therefore, your sen-
tences should flow smoothly when all but the simplest formulas are replaced by “blah” or some other
grunting noise.

(2) (answer:Pitem 2) The environment is located in: env_problem:2,

(answer:Pitem 2)(20pts)

Many readers will skim over formulas on their first reading of your exposition. Therefore, your sen-
tences should flow smoothly when all but the simplest formulas are replaced by “blah” or some other
grunting noise.

(3) (answer:Pitem 3) The environment is located in: env_problem:2,

(answer:Pitem 3)(30pts)

Many readers will skim over formulas on their first reading of your exposition. Therefore, your sen-
tences should flow smoothly when all but the simplest formulas are replaced by “blah” or some other
grunting noise.

1287  \installnamespace {answer}?
1288  \installnamespace {answeralternative}?
1289  \installnamespace {answerrenderings}

1290  \installcommandhandlexr \????answer {answert \????answer
1291 \installcommandhandlexr \? ? ? ?answeralternative jansweralternative?
1292 \????answeralternative

1293 \appendtoks

1294 \frozen\instance\protected\edefcsname \currentanswer\endcsname<
1295 \answer_direct _instancel%

1296 \frozen\protected\instance\edefcsname\e!start\currentanswer\endcsname{
1297 \answer_start _instance [\currentanswer]%
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1298 \frozen\protected\instance\letcsname \e!stop \currentanswer\endcsname
1299 \answer_stop_instance
1300 \to \everydefineanswer

1301 \definesystemconstant{answer?}

1302  \tolerant\protected\def\answer_ direct_instance [#SH#1]#:4#2%
1303 i\begingroup

1304 \cdef\currentanswer{#1%t%

1305 \doif}\answerparameter{showanswerttitrue}{\mode_showanswertruet¥
1306 \ifmode_showanswer

1307 \useanswerstyleandcolor\c!style\c!color

1308 \answerparameter\s!command

1309 TIE2%

1310 \fi

1311 \endgroup

1312 \edef\currentanswer{f#f2\collectanswerif#2tt

1313 \edef\prevanswer 3{\currentansweri}

1314 % RAE—EhaE, KEEZE,

1315 9% ELAf 5 B AR S ] Fe s R A R B PR,
1316 % \setupanswer [command=\groupedcommand{\bf}{},style=,color=,showanswer=]

1317  \permanent\protected\def\startanswer
1318 {\begingroup

1319 \edef\currentanswer_bak$\currentanswer}%
1320 \lettonothing\currentanswer
1321 \doifelsenextoptionalcs\answer_start_delayed\answer_start_indeed}

1322 \def\answer_start_delayed [#S#1]%

1323 {\doifelseassignmentcsi#11%
1324 \answer_start_delayed_parameters
1325 \answer_start_delayed_name

1326 [#1]¢

1327  \def\answer_start_delayed_parameters[#S#1]%
1328 i\setupcurrentanswer [#1]%
1329 \answer start indeed?}

1330 \def\answer_start _delayed_name[#1]%

1331 i\cdef\currentanswer{#1t%
1332 \checkanswerparent
1333 \doifelsenextoptionalcs\answer_start_delayed_parameters\answer_start_indeed}?

1334  \protected\tolerant\def\answer start_instance [#SH#L1]#* [#S#2]%

1335 {\begingroup\env_answertrue\set_envitem_counter

1336 \edef\currentanswer_ bak$\currentanswert% il = 7 th 4 %
1337 % \lettonothing\currentanswer¥®kcurrentanswer

1338 \cdef\currentanswer§#1¥t%

1339 \setupcurrentanswer [#2]%

1340 \grabbufferdatadirect

1341 % t\s!lanswer:\currentanswer}%

1342 i\s!answert’% unnested, as before

1343 i\e!start\currentanswer}%
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i\e!stop \currentanswer}?t

\def\answer start indeed
i\grabbufferdatadirect
% t\s!lanswer:\currentanswer}%
{\s!answer}?% unnested, as before
i\csstring\startansweri®
i\csstring\stopanswerti

\permanent\protected\def\stopanswer

i\answerparameter\c!before
\dostarttagged\t!answer\currentanswer

\begingroup

\useanswerstyleandcolor\c!style\c!color
\usealignparameter\answerparameter
\edef\currentansweralternative{\answerparameter\c!alternativet%
\ifcsname\currentansweralternativehash\s!parent\endcsname \else
\let\currentansweralternative\s!default

\fi

\usesetupsparameter\answerparameter

\edef\p_renderingsetupi\answeralternativeparameter\c!renderingsetup}

\directsetup\p_renderingsetup
\tolerant\protected\xdef\getanswercontent[##1]% only for writing env
i\getbufferdata[\s!answer] %

\endgroup

\dostoptagged

\answerparameter\c!after

\endgroup?

\aliased\let\answer_stop_instance\stopanswer

\permanent\tolerant\protected\def\getanswer [#1]{\getbufferdata[\s!answer]?
\permanent\tolerant\protected\def\getinlineanswer[#1]{\inlinebuffexr [\s!answer]}?

\defineansweralternative
[\s!default]
[\c!renderingsetup=\????answerrenderings:\s!default]

\startsetups[\????answerrenderings:\s!default]
\doif{\answerparameter $showscriptititrue}{\mode_showscripttrue
\mode_showanswerfalse}%
\doif{\answerparameter\c!showanswer} {trueti\mode_showanswertrue
\mode_showscriptfalsei¥
\doif{\answerparameter\c!showpoint} {truel{\mode_showpointtrue$%
\startenv_answer
\useanswerstyleandcolor\c!style\c!color
\ifenv_material% 7 LLJH o o0 = #i% = k) A RE,
\getanswer% % MANHEKEEXEZRE, AxF—MEEZE
\else
\ifmode_showscript
\answerparameteriscriptcontenti®
\else
\noindent
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\begingroup
\edef\currentmodefanswer}%
\p_assigned_currentlabel{answeriiansweri¥
\expandafter\expandaftexr?
\expandafter\p_pass_currentlabel%
\expandafter\expandafter’
\expandafter [%
\csname p_currentansweranswerlabel\endcsname]{answert¥
\ifmode_showanswer
\show_pointoranswer_text[answer] [answer]%
\fi\endgroup
\begingroup
\edef\currentmode{point}
\p_assigned_currentlabelfanswert{ipoint#%
\expandafter\expandaftexr
\expandafter\p_pass_currentlabel¥
\expandafter\expandafter’
\expandafter[%
\csname p_currentanswerpointlabel\endcsname]{point}%
\ifmode_showpoint
\show_pointoranswer_text[answer] [point]%
\fi\endgroup
\ifmode_showanswer
\answerparameter\c!inbetween
\getanswer
\fi
\fi
\fi
\stopenv_answer
\stopsetups

\tolerant\protected\def\startoldanswer [#1]4#:#2\stopoldanswer®

i\begingroup\env_answertrue\set_envitem_counter
\lettonothing\currentanswer%itcurrentanswer
\lettonothing\getanswer\lettonothing\getinlineanswer

% currentanswer w4 LAEAWEMIRRE T RALS ZER G,

% WRH currentanswer ZF&ZEHENS, FEEHEK
\cdef\currentanswer{#1}%

\setupcurrentanswer [#2]%

\edef\getanswer{#21%

\usesetupsparameter\answerparameter
\edef\p_renderingsetup{\answeralternativeparameter\c!renderingsetup}’
\directsetup\p_renderingsetup
\tolerant\protected\xdef\getanswercontent [##1]% only for writing env
T2 3%%

\endgroup?

\setuptextbackground
[env_answer]
[location=paragraph,width=local,
leftoffset=1ex,rightoffset=1ex,
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%topoffset=.5ex,bottomoffset=.5ex,
before={\leftskip=0pt\startnarrower?,
after={\stopnarrower},
background=\answerparameter\c!background,
backgroundcolor=\answerparameter\c!backgroundcolor,
corner=\answerparameter\c!corner,
frame=\answerparameter\c!frame,
framecolor=\answerparameter\c!framecolor,
rulethickness=\answerparameter\c!rulethickness,

]

\setupanswer

[showanswer=true,

showpoint=true,
answer=\getanswerforanswer,
point=\getpointforanswer,
answerlabel=3${\examtextsianswertit,
pointlabel={, \examtextsipointti,
pointstyle=\answerparameter\c!style,
pointcolor=\answerparameter\c!color,
answerstyle=\answerparameter\c!style,
answercolor=\answerparameter\c!color,
style=\ss\it,
before=\blank[halfline],
after=\blank[halfline],
inbetween={\par?,

showscript=false,

%scriptcontent=41%,
\c!alternative=\s!default,
background=normalframeOL,%% for env_answer textbackground
%backgroundcolor=,

ycorner=,

frame=on,

%framecolor=,

%rulethickness=,

]

\defineanswer[answer]
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BEHE pitem,citem &

\installnamespace ipitem?
\installsimplecommandhandler \????pitem {pitem} \????pitem

\setuppitem [%showpoint=,
%point=,
pointstyle=\ttx,
%pointcolor=,
pointlabel={, \examtextsipointi},
answerlabel=3%\examtextsfanswer?, {,
%showanswer=,
d%answer=,
answerstyle=\ss,
answercolor=red,
%reference=,

]

\tolerant\protected\def\startpitem[#1]{\begingroup’
\item_pitemtrue\increaseQuestionID%
\iffirstargument\setuppitem[#1]\£i%
\startitem[\pitemparameterireferencet]%

\ifenv_question® T FHy M, WH pitem @A botlevel, HH|E# toplevel.
\set_count_itemlevel [pitem]\else\ifenv_problem

\set_count_envlevel [pitem]\£fi\fi%
\installpointoranswer[pitem] [point]%
\installpointoranswer[pitem] [answer]%

\removeunwantedspaces?

\def\stoppitem{%
\ifitem_fillin\edef\currentanswer{\collectedanswert\fi
\installdatacollector%

\installdatacollectorhelper%
\initcollectanswer% =& fillin %
\stopitem\endgroup?

[¥IOH THRIC IERE %)

\installnamespace icitem?
\installsimplecommandhandler \????citem i{citem}{ \????citem

\setupcitem[
%style=,
%color=,

]

\protected\def\check_correct_choicef#l#2{%
\usecitemstyleandcolor\c!style\c!color
\ifmode_showanswer

\edef\p_correctmark_mix}\edef\p_correctmark_pi#1}%

\ifx\p_correctmark_p\p_correctmark_m
\edef\p_answerstylei\choiceparameter\c!answerstylet
\edef\p_answercolori\choiceparameter\c!answercolox}%
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1519 \ifx\p_choicetype\s!true

1520 \bgroup

1521 \ifempty\p_answerstyle

1522 \questionparameter\c!answexrstyle

1523 \else\choiceparameter \c!answerstyle\fi

1524 \ifempty\p_answercolor

1525 \switchtocolox[\questionparameter\c!answercoloxr]%

1526 \else \switchtocolor[\choiceparameter \c!answercoloxr]\fi
1527 \sym{\ifempty\p_correctsymbol\symbol{marksquarecheck}\else
1528 \p_correctsymbol\£fi}% correct inline choice

1529 #2\collectanswerii#2t\egroup

1530 \else

1531 \startitem[\citemparameter\c!reference] %

1532 \ifempty\p_answerstyle

1533 \questionparameter\c!answerstyle

1534 \else\choiceparameter \c!answerstyle\fi

1535 \ifempty\p_answercolor

1536 \switchtocolox[\questionparameter\c!answercoloxr]%

1537 \else \switchtocolor[\choiceparameter \c!answercoloxr]\fi
1538 #2%

1539 \stopitem% correct normal choice

1540 \fi

1541 \else

1542 \startitem[\citemparameter\c!reference]#2\stopitem% correct choice without =
1543 \fi

1544 \else

1545 \startitem[\citemparameter\c!reference]#2\stopitem¥ choice
1546 \fi

1547 \ifx\p_choicetype\s!true

1548 \markcontent[inlinechoice_punctuation]{\choiceparameter\c!separatoxrt¥
1549 \fi¢

1550  \protected\def\get citem_text[#1]{\setbox0=\hbox{#1}%

1551 \d_width_cit = \the\wdO\relaxrelax is neccessary
1552 \ifdim \d_width_cit_max > \d_width_cit%

1553 \d_width _cit _max = \d_width_cit_max%

1554 \else \d width cit max \d_width_cit%

1555 \Ei20so0s0s EEFHE A EE

1556  \tolerant\protected\def\startcitem[#1]#x[#2]#:#3\stopcitemi¥ #1 correct answer

1557 \ifsecondargument\setupcitem[#2]\£i% #2 option

1558 \get_citem_text[#3]% #3 choice content

1559 \edef\p_correctmark_pi#lt\edef\p_correctmark_mix}%

1560 \incrementitemnumber

1561 \ifx\p_choicetype\s!true\else

1562 \ifx\p_correctmark_p\p_correctmark_m

1563 \edef\currentanswerindex3\the\c currentitemnumber?

1564 \edef\correct_choice_index{\convertnumbexr{\choiceparameterinumberconversiont{
1565 \currentanswerindex?} %

1566 \collectanswer{\correct_choice_index$% collect current normal answer

1567 \fi\fi
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1568 \doifs#1tixt5\choice checktruet¥
1569 \check_correct_choice$#1$34#3%%
1570 \removeunwantedspaces?
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32.(answer:F,C)
A. a B. F
33.(answer:F,sF) ( Oa, [ F, ¥ sF)

\def\pitemi\dosingleempty\pitem_indeed}
\def\pitem_indeed[#1]4#2{
\startpitem[#1]3#2%\stoppitem}

\def\citem{\dosingleempty\citem_indeed}
\def\citem indeed[#1]425%
\startcitem[#1]3#2¢%\stopcitem?

\tolerant\protected\def\fastchoice[#1]#:4#2{
\startchoice[#1]
\def\citem_tempiHtli\startcitemdtkl\stopcitemt
\def\correctiHlsiH1\collectanswer{#i#ltt
\processcommacommand [#2]\citem_temp
\stopchoice}?

\tolerant\protected\def\fastchoicealt [#1]4#:#2%
\startinlinechoice[#1]
\def\citem_tempiHtli\startcitemitHkl\stopcitem?
\def\correctiHlsiH1\collectanswer{#iltt
\processcommacommand [#2]\citem_temp
\stopinlinechoice}

R R HE ) fragilecitem, flH A% %, RAATRESBERIR

\bgroup

\obeylines
\gdef\xcitem{\bgroup\obeylines\dosingleempty\doxcitem#%
\gdef\doxcitem[#1]#2

{\egroup%

\doifsomethingelse{#1}%

i\startcitem[*x]#2\stopcitem?%

{\startcitem #2\stopcitem}¥

\egroup

\let\fragilecitem\xcitem
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H fillin mi4

T ERRE pitem BREEPEITME M, B, FIRFHR pitem AHBA answer $#{E, 7] DUSEZB(EEITE

o

R

A X

fillin @4 FZMREE bar BB, HA FHZRIBK bar a2 EIAME K fillin @4, fillin &2 H Wi 2%
textnote 2 %(: empty fl n, empty=yes, BEEZ; empty=number F/R¥F; empty=none %
£, n="BHERRELERXEE; n=NUMBER #%#l bar HEE,

bar FEAVIREHKR, TLUEE mp 2BUETRE: rules:under:dots rules:under:dash
Wi —~ align=autoright ik fillin M35 G 77, EHAMFEINEE n=0 4 IEH TIE

\installnamespace +fillint
\installcommandhandlexr \????2fillin {fillint \??2??2fillin

\setupfillin[%foregroundcolor=,
%before=,after=,
%left=,right=,
grepeat=,mp=
rule=fillin_text,% 5| bar &%
empty=none,
continue=yes,
unit=em,
order=foreground,
method=0,

%color=gray,
width=4em,

n=10,

dy=-0.4,

max=3,

offset=-.1,
rulethickness=.05,
foregroundstyle=\ss, ]

\tolerant\protected\def\fillin[#1]4#:#23%
\item_pitemfalse\item_fillintrue
\begingroup\removeunwantedspaces
\iffirstargument\setupfillin[#1]\£fi
\setupbar[fillin_ text][%

rulethickness=\fillinparameter{irulethickness},
foregroundcolor=\fillinparameter{foregroundcolozr?,
foregroundstyle=\fillinparameteriforegroundstylet,
continue=\fillinparameter{continuet,
unit=\fillinparameterfunity?,
order=\fillinparameter{forder}t,
method=\fillinparameter{method},
dy=\fillinparameter{dy},
max=\fillinparameter{imax}t,
width=\fillinparameter{width}?,
left=\fillinparameter{ileft?,
right=\fillinparameter{righti#,
repeat=\fillinparameter{irepeat},
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color=\fillinparameter{icolor},

offset=\fillinparameter{offset}?,

empty=\fillinparameter{iempty},

mp=\fillinparameterimp}]%

\global\advance\c_fillin_number by 1\relax
\edef\p_ni{\fillinparameter\c!n}%
\edef\p_emptyi\fillinparameter\c!empty}%
\edef\p_number{\numbexr\c_fillin_numbext¥
\edef\p_aligni\fillinparameter\c!aligni}%
\edef\currentbar{\fillinparameter\c!rulet%
\ifx\p_align\c!autoright

\unskip\nobreak\hfill\penalty50\hskip2em\hbox{}\nobreak\h£ill\fi

\fillinparameter\c!before\fillinparameter\c!left
\ifx\p_n\wildcardsymbol
\donefalse
\ifx\p_empty\v!yes\donetrue
\else\ifx\p_empty\v!number\donetrue
\else\ifx\p_empty\v!none\donetrue
\fi\fi\fi
\ifdone
\ifmode_showanswer
\setupfillin[empty=none]%
\else
\setupbar[\currentbhar] [\c!empty=\v!yes]%
\fi
\edef\p_emptyi\fillinparameter\c!empty}%
\fi
\inlinebar[\currentbar]\bgroup
\wordboundaryi2\egroup
\else
\ifmode_showanswer\setupfillin[empty=none]\fi
\edef\p_empty{\fillinparameter\c!empty}%
\inlinebar[\currentbar]\bgroup
\wordboundary\scratchcounter\numexpr\p_n\relax
\ifx\p_empty\v!yes
\interwordspaceshefore\scratchcounter
\interwordspacesafter\scratchcounter
\else\ifx\p_empty\v!number
\interwordspaceshefore\scratchcounter
\zwnj\runninghbox{\resetbar\p_number}\zwnj
\interwordspacesafter\scratchcounter
\else\ifx\p_empty\v!none
\scratchcountexr\numexpx\p_n/\plustwo\relax
\intexrwordspaceshefore\scratchcounter
\zwnj{{#2¢i\zwnj
\interwordspacesafter\scratchcounter
\else#2\fi\fi\fi
\egroup
\fi
\fillinparameter\c!right\fillinparameter\c!after
\ifx\p_align\c!autoright
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1689 \parfillskip=0pt \finalhyphendemerits=0 \par\fi
1690 \aftergrouped{\edef\currentanswer{\collectanswer{#2%#2%}
1691 \endgroup?
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ZrH material BRIE

A B, \material BREHRINERESXAMEL, ZIRELER®, TRE 720 FEHIRETHERNR
B, BT \setupmaterial [number] E{HEFHI&AK T \setupcounter IR EFE AN, HAEBIEZHT
FAHHE,

BLEBEHRIR:

- \setupmaterial [number] R EZIRFIEENIFYR;

« \setupmaterial[title] s%EiZERIEMIRBIEM RIS,

« \setupmaterial[author] FREZIRE CZIEE MBI,

« \setupmaterial[source] &BEZIRE EZMEMERIFEIIFHBIR R,

« \setupmaterial[indicator] KBRS ENHEYTI LB,

AN, title,author,source M4 REEIE# \setupmaterial REHHE, Wi, ZBEEE —HK
BRI T a4 \indicator RIEZGL X EHF W W E 2 W ETHRMBEFEH - (—) EH LT,
Ik, \setupmaterial i B —{E#{H indicator i@} indicator=reset ¥} indicator f{TEHE, &K
—{E¥THY material ¥81%, @@ indicator=continue ¥findicator BUNE R, EHHFEETEL. B8R, WALl
HHOEE \setupmaterial [indicator] [Teset=true] REHTEHEIE

DL EFE EHIE8EE DA R#E: before after align style color b4, \setupmaterial nJPAfiid spacebefore
Fispaceafter SRIEHIPNFH 5 E EE

notice , if you want change [start = number] after a chapter , you should use \reset-
count [COUNTER_NAME] to reset current counter to the number of start you've setted. otherwise, you
need put [start = number] before the chapter you want to reset the counter.

\setupmaterial[title] [color=green]
\startmaterial[title=sKnuth?,author=4Most, source={Yelu}]
\input knuth

\stopmaterial

Mos

Thus, I came to the conclusion that the designer of a new system must not only be the imple-
menter and first large—scale user; the designer should also write the first user manual.

The separation of any of these four components would have hurt TgX significantly. If I had not par-
ticipated fully in all these activities, literally hundreds of improvements would never have been made,
because I would never have thought of them or perceived why they were important.

But a system cannot be successful if it is too strongly influenced by a single person. Once the ini-

tial design is complete and fairly robust, the real test begins as people with many different viewpoints
undertake their own experiments.

Yelu

\installnamespace imaterialt
\installcommandhandlexr \????material {material} \????material
\installcounterassociation {materialt?

\appendtoks
\registermaterialcounter\currentmaterial
\definecounter[\currentmaterial]%

\to \everydefinematerial

CONTEXT 64 basicexam



Memoir Ever

1699  \appendtoks
1700 \synchronizematerialcounters
1701 \to \everysetupmaterial

1702  \definematerial [material]

1703  \definematerial [number]

1704 \definematerial [indicator]

1705  \definematerial [indicator_helper]

1706  \setupmaterial [\c!align=center,

1707 %\c!color=,

1708 %\clstyle=,

1709 \c!spacebefore=1em,

1710 \c!spaceafter=1lenm,

1711 %\cltitle=,

1712 %\clauthor=,

1713 %\c!source=,

1714 \c!indicatoxr=continue,

1715 indent={first,always,2em}, ]

1716  \setupmaterial [\c!number] [\c!before={(},\c!after={)},

1717 \c!prefix=no, \c!start=0,

1718 \c!style=\namedmaterialparameter\c!title\c!style,
1719 \c!color=\namedmaterialparameter\c!title\c!color,
1720 \c!numberconversion=cn, \c!way=\v!by\v!chapter]
1721 \setupmaterial [\c!title] [\c!style=\ss\tfa,\c!color=,\c!align=center,
1722 \c!before=, ]

1723 \setupmaterial [\c!author] [\c!style=\tf, \c!coloxr=,\c!align=flushright]
1724 \setupmaterial [\c!source] [\c!before=\par, \c!align=flushright]

1725  \setupmaterial [indicator,indicator_helper]

1726 [style=\ss\bf,before={ (~},after={~) ¥%,prefix=no,

1727 numberconversion=cn,type=line,reset=false]

1728  \def\material_counter_parameter#1%
1729 i\begingroup

1730 \def\currentmaterial$4#1}%

1731 \setupalign[\namedmaterialparameter\c!title\c!align]
1732 \usematerialstyleandcolor\c!style\c!color

1733 \namedmaterialparameter\currentmaterial\c!before

1734 \incrementcountex [#1]\convertedcounter [#1]%

1735 \namedmaterialparameter\currentmaterial\c!after

1736 \endgroup?

1737  \def\material_parameter#1%creat new element in material
1738 {i{\begingroup

1739 \def\currentmaterial$4#1}%

1740 \setupalign[\namedmaterialparameter\currentmaterial\c!align]
1741 \usematerialstyleandcolor\c!style\c!color

1742 \namedmaterialparameter\currentmaterial\c!before

1743 \rootmaterialparameter\currentmaterial

1744 \namedmaterialparameter\currentmaterial\c!after

1745 \par\endgroup}t?
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\tolerant\protected\def\startmaterial [#1]1{\begingroup’

\lettonothing\currentmaterial®%¥
\edef\p_indicator{\rootmaterialparameter\c!indicator?
\edef\p_reset{\namedmaterialparameteriindicator}\c!reset?
\processaction[\p_indicator][
reset=>\1let\indicator_reset_helper\resetindicators,
continue=>\continue_countertrue\let\indicator_reset_helper\relax, ]
\processaction[\p_reset][
true=>\1let\indicator_reset_helper\resetindicators,
false=>\continue_countertrue\let\indicator_reset_helper\relax, ]
\env_materialtrue\set_envitem_counter%
\iffirstargument\setupcurrentmaterial [#1]\fi
\indicator_reset_helper
\usematerialstyleandcolor\c!style\c!coloxr%
\blank[\rootmaterialparameter\c!spacebefore]
\startalignment[\rootmaterialparameter\c!align]
\material_counter_parameter\c!number
\material_parameter\c!title
\material_parameter\c!authoxr
\stopalignment
\blank[\rootmaterialparameter\c!spaceafter]
\setupindenting[\rootmaterialparameter{iindentt]
\removeunwantedspaces?

\def\stopmaterial{¥%

\material_parameter\c!souxce
\indicator_reset_helper
\endgroup?

\tolerant\protected\def\indicator [#1]4#:#2{\begingroup’

\def\currentmaterialsindicator?
\iffirstargument\setupmaterial[indicator] [#1]\£i%
\edef\indicator_typet\namedmaterialparameter\currentmaterial\c!typet%
\edef\indicator_reset{\namedmaterialparameter\currentmaterial\c!zreseti¥
\processaction[\indicator_typel%
[line=>\1let\indicator_type\underbar, %
none=>\1let\indicator_type\relax]%

\usematerialstyleandcolor\c!style\c!coloxr%

\indicator_typet%

\namedmaterialparameter\currentmaterial\c!before%

\ifmode_check
\ifenv_material\colox[red]{materialt\else\colox[red]{\currentitemgroupt\£i%
\ifcontinue_counter\color[red]{continue}\£fi%

\£i%

\ifenv_material%

\ifmode_check\color[red]{::indicator$\£i%
\incrementcounter[\currentmaterial]l%
\convertedcounter[\currentmaterial]%

\else%

\ifmode_check\colox[red]{::helper}\fi%
\incrementcounter[indicator_ helper]%
\convertedcounter[indicator_helper]%
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\fi%
\namedmaterialparameter\currentmaterial\c!after¥
#2%

\endgroup?

\def\indicatorsi%w% TODO i @40y A3

\ifenv_material
\ifmode_check\color[red]{::indicator$\fi
\incrementcountex[indicator]%
\convertedcounter[indicator]%

\else
\ifmode_check\color[red]{::helperf\fi
\incrementcounter[indicator_helper]%
\convertedcounter[indicator_helper]%

\fif

\def\resetindicators{\setcountexr[indicator] [0]%
\setcounter[indicator_helper] [0]%
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B HE close %

close BREGIL T2 EBERFN, EFELE: BEEMH itemgroup HE, ZBRHFEMFHAMME G2
\startclose fl \stopclose AR ABIEZIESE, \closechoice M IREINAYEIE, #ZmSBafT Ui
HRIAT, BEEMEFIREERME, \stopclose §HITHE, K& close BRIEMTIEHE \closechoice
EIBIE choice IR BN, K, nIDURAE [+] RESLIEREE,

close BRIR[FFEAEK T answer [WH#{E, HAMEE T reset HAGRIRZ A4S —fm E B RIENEYE, HAMMHHE:
barcolor barstyle #% & RN XI4##%3X before after style color FR#EfEERI% width frame stopper distance
RETHATE B

\startclose

On Oct. 11, hundreds of runners competed in a cross-country race in Minnesota.
Melanie Bailey should have \closechoice[designed, followed, changed, finished] the
course earlier than she did. Her \closechoice[delay,chance,trouble,excuse] came
because she was carrying a \closechoice[judge,volunteer,classmate,competitor]
across the finish line.

As reported by a local newspaper, Bailey was more than two-thirds of the way

through her \closechoice[race,school,town,training] when a runner in front of

her began crying in pain. She \closechoice[agreed, returned, stopped, promised]

to help her fellow runner, Danielle Lenoue. Bailey took her arm to see if she

could walk forward with \closechoice[courage,aid, patience,advice] . She couldn't.
Bailey then \closechoice[went away, stood up,stepped aside,bent down] to let Lenoue
climb onto her back and carried her all the way to the finish line, then another

300 feet to where Lenoue could get \closechoice[medical,public,constant,equal]
attention.

Once there, Lenoue was \closechoice[interrupted,assessed,identified,appreciated]
and later taken to a hospital, where she learned that she had serious injuries in

one of her knees. She would have struggled with extreme
\closechoicel[hunger,pain,cold,tiredness]

tomake it to that aid checkpoint without Bailey's help.

\stopclose

CONTEXT 68 basicexam



1812
1813
1814
1815
1816
1817
1818
1819
1820
1821
1822
1823

1824
1825
1826
1827
1828
1829
1830
1831

1832
1833
1834

69 t-basicexam

Memoir Ever

On Oct. 11, hundreds of runners competed in a cross-country race in Minnesota. Melanie Bailey
should have 34 the course earlier than she did. Her 35 came because she was car-
rying a 36 across the finish line.

As reported by a local newspaper, Bailey was more than two-thirds of the way through her 37
when a runner in front of her began crying in pain. She 38 to help her fellow runner,
Danielle Lenoue. Bailey took her arm to see if she could walk forward with 39 . She couldn’t.
Bailey then 40 to let Lenoue climb onto her back and carried her all the way to the finish line,
then another 300 feet to where Lenoue could get 41 attention.

Once there, Lenoue was 42 and later taken to a hospital, where she learned that she had seri-
ous injuries in one of her knees. She would have struggled with extreme 43 to make it to that
aid checkpoint without Bailey’s help.

34. A. designed B. followed C. changed D. finished
35. A. delay B. chance C. trouble D. excuse
36. A. judge B. volunteer C. classmate D. competitor
37. A. race B. school C. town D. training
38. A. agreed B. returned C. stopped D. promised
39. A. courage B. aid C. patience D. advice
40. A. went away B. stood up C. stepped aside D. bent down
41. A. medical B. public C. constant D. equal
42. A. interrupted B. assessed C. identified D. appreciated
43.

A. hunger

B. pain

C. cold

D. tiredness

\setupclose[%showanswer=false,
reset=false,
%barstyle=,
%barcolor=,
showpoint=false,
answerstyle=\ss,
answercolor=red,
width=2em,% set order width
frame=o0ff,% set order frame
stopper=.,% set order stopper
distance=.5em,% set order distance
after=\blank[halfline]]

\c_closetest=1\relax
\tolerant\protected\def\closebar#1{
\startbar[underbar]%
\scratchcountexr\numexpxl16/\plustwo\relax
\interwordspaceshefore\scratchcounter
\zwj\runninghbox{\resetbar{#1}}\zwj
\interwordspacesafter\scratchcounter
\stopbar}

\def\closechoice[#1]{% =& F P a4, FRCHEE (FREHIFK)

\expandafter\def\csname close:\romannumerals\c_closetest\endcsname{#1}%
% c_closetest FIMEREIEY| K, GEFEFEAEN M, EwmITEAEE, LA EMetaaT g

basicexam 69 CONTEXT




Memoir Ever

1835 % T RGETEFIIR, ZEABAETLEAT: (1) RERXETEE (2) BRHEHEF
1836 % ZIHEBNRE, FEXEMTEEE 1
1837 \ifclose_counter_reset

1838 \begingroup

1839 \setupbar[underbar]%

1840 [color=\closeparameter{barcolor?,
1841 mp=\closeparameteribarstyle}t]%
1842 \closebar{\number\c closetest}¥
1843 \endgroup

1844 \else
1845 \begingroup\let\par\relax® #HLEf# 4 B, #% par A%

1846 \setupbar[underbar]%

1847 [color=\closeparameteribarcolor},

1848 mp=\closeparameteribarstylet]%

1849 \startitemgroup[env_question] [n,continue, text,nostopper]%
1850 [lefttext=\closebar,righttext=]%

1851 \item \save_question_order

1852 \stopitemgroup

1853 \endgroup

1854 \filadvance\c_closetest by 1\relax}

1855 \def\close order{%EIE ATy 7ok, F9HE tempa %

1856 \unskip\noindent

1857 \inframed[width=\closeparameter\c!width,

1858 frame=\closeparameter\c!frame,

1859 foreground=color,

1860 foregroundcolor=\closeparameter\c!color,
1861 foregroundstyle=\closeparameter\c!style]{%
1862 \convertnumberint{\numbexr\c_closetest_tempat¥
1863 \closeparameter\c!stopperi%

1864 \hskip\closeparameter\c!distance\relax

1865 \global\advance\c_closetest_tempa by 1\relax
1866 \unskip?

1867 \def\docloseitem#li\startcitem #1\stopcitem}
1868 \def\placeclosechoice{%

1869 \scratchcountexr\numexpxr\c_closetest-1\relax

1870 \c_closetest=1\relax%

1871 \dorecurses\number\scratchcounter}i% start recurse

1872 \hbox${% start first box

1873 \hsize=\textwidth

1874 \increaseQuestionID

1875 \set _count_envlevel [close]%

1876 \installpointoranswer[close] [point]%

1877 \installpointoranswer[close] [answer]%

1878 \edef\currentitemnumber{\the\c_closetest_tempat¥%

1879 \edef\currentuserorders%

1880 \currentitemnumberf%ik & 7 & 42 4 f IF 7 1% BUHE 55

1881 \ifnum\rawcountervalue[Unicode botlevel]=0\else% i order &,
1882 (\rawcountervalue[Unicode botlevel])\fit% K #Z3E%4F L question ¥
1883 \hbox{\close_ordert% close question index box
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\hbox{\vtop{% close question choice box start
\startchoice[point=\closeparameter\c!point]%

\processcommacommand [\csname close:\romannumerals\c_closetest\endcsname]

\docloseitem%
\stopchoice
1% close question choice box stop
% stop first hbox
\advance\c_closetest by 1\relax}% stop reucrse
\c_closetest=1\relax%

hy

\tolerant\protected\def\startclose[#1]%
i\begingroup\env_closetrue\set_envitem_counter
\iffirstargument\setupclose[#1]\fi
\edef\p_reset{i\closeparameter\c!reset}¥
\ifx\p_reset\s!true
\close_counter_resettrue
\else
\close counter_ resetfalse
\fi\restore_question_oxrder
\ifclose_counter_reset® Wi EEH, H|Fii2a 1
\c_closetest_tempa=1\relax% tempa AT XE W /75 Frit T F 5
\else % HR|, 18 L —Ri /7o, LEML.
\c_closetest_tempa=\rawcountervalue[strc_close_counter]%
\c_closetest_tempa=\numexpr\c_closetest_tempa+l\relax
\fi
\closeparameter\c!before
\useclosestyleandcolor\c!style\c!color
\removeunwantedspaces}

\def\stopclose{%
\closeparameter\c!after
\placeclosechoice
\endgroup?
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P H optclose Bl

ZIRB B close IRIEMU A, HEMU REZBERETEZNRE, ZRENEIEGLSH WMME:
\startoptclose 1 \stopoptclose FIZKAIEZIRIE, \ocitem ARIECIRENAEIE, ZaS 1T XK
BRIA], \ocitem[answer=blabla]blablabla

Ah, BE—ERHRN®S, \specialocitem (£ EFA answer #{H, 7JLAUEIE \setupocitem KFATE LA
LR, IR AR, HEVAMRREE,

\startoptclose

The latest \ocitem[answer=engineering]iengineert techniques are applied to create
this protective \ocitem[answer=functional]{function} structure that isalso
beautiful. The design features ten steel “sepals (¥ k)" made of glass and

aluminium (48) . These sepals open on warm days \ocitem[answer=to give]{give? the
inside plants sunshine and fresh air. In cold weather, the structure stays
\ocitem[answer=closed]{closet to protect the plants.

Further, the Silk Route Garden around the greenhouse \ocitem[answer=walks]{walk}
visitors through a journey influeVled by the aVLient Silk Road, by which silk as
well as many plant species came to Britain for \ocitem[answer=the]{} first time.
These plants iVL1uded modern Western \ocitem[answer=favorites]{favouritet such as
rosemary, lavender and fennel. The garden also contains awinding path that guides
visitors through the twelve regions of the Silk Road. The path offers over 300

plant species for visitors to see, too.

The Glasshouse stands \ocitem[answer=as]{?% a great achievement in contemporary
design, to house the plants of the southwestern part of China at the end of a path
retracing (i #) the steps along the Silk Route \ocitem[answer=which that]{}
brought the plants from their native habitat in Asia to come to define much of the
\ocitem[answer=richness]iricht of gardening in England.

\stopoptclose

The latest 44 (engineer) techniques are applied to create this protective 45 (function)
structure that is also beautiful. The design features ten steel “sepals (2 /)’ made of glass and aluminium
(5). These sepals open on warm days 46 (give) the inside plants sunshine and fresh air. In cold
weather, the structure stays 47 (close) to protect the plants.

Further, the Silk Route Garden around the greenhouse 48 (walk) visitors through a journey
influeVLed by the aVLient Silk Road, by which silk as well as many plant species came to Britain for

49 first time. These plants iVLluded modern Western 50 (favourite) such as rosemary,
lavender and fennel. The garden also contains a winding path that guides visitors through the twelve
regions of the Silk Road. The path offers over 300 plant species for visitors to see, too.

The Glasshouse stands 51 a great achievement in contemporary design, to house the plants
of the southwestern part of China at the end of a path retracing (J& i1 ) the steps along the Silk Route
52 brought the plants from their native habitat in Asia to come to define much of the 53

(rich) of gardening in England.

\installnamespace focitem?
\installcommandhandlex \????ocitem {ocitem} \????ocitem

\setupocitem [%answer=,
%color=,
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1920
1921
1922
1923
1924
1925

1926
1927
1928
1929

1930
1931
1932
1933
1934
1935

1936
1937
1938
1939
1940

1941
1942
1943
1944
1945
1946
1947
1948
1949
1950
1951
1952
1953
1954
1955
1956
1957
1958
1959
1960
1961

73 t-basicexam

Memoir Ever

%point=,

%showanswer=false,

pointlabel={, \examtexts{pointi},
answerlabel=3${\examtextsianswertt, ¢,
answercolor=red,

answerstyle=\ss, ]

\definequestion[optclose]

\definequestion[specialocitem]
\def\setupoptclosei\setupquestion[optclose]?
\def\setupspecialoptclose{i\setupquestion[specialocitem]}

\setupquestion[optclose]
[option={n,continue,text,nostoppert,
lefttext=\closebar,
righttext=,
reset=false,
class=optclose, ]

\setupquestion[specialocitem]
[option={n,continue,text,nostoppert,
lefttext=\closebar,
righttext=,
reset=false, ]

\tolerant\protected\def\ocitem[#1]4#:#2%
{\begingroup?
\iffirstargument\setupocitem[#1]\£i%
\useocitemstyleandcolor\c!style\c!colox%
\let\par\relax\increaseQuestionID%
\item \parentitemnumber=\currentitemnumber\relax
\set count_itemlevel [ocitem]%%%%s ob/Ea4, & 75

% EE, Wi toplevel HERAEAM XM, EKAHERKAEZ toplevel,

% (EZZIIEA T PN toplevel => 5
% WMRIZIEMAN FIE B, WFEEXH toplevel, ==> 5(1)

% B4, #H toplevel FEAE set_count_itemlevel @AM A 24£%.
¥ inlinechoice

\allowbreak\doifsomethingelse{#2%§ (#2)¥$3% &%,
\edef\currentpoint{\ocitemparameter\c!point¥%
\edef\currentanswer{\ocitemparameter\c!answer}%
\installpointoranswer[ocitem] [point]%
\installpointoranswer[ocitem] [answer]%
\installdatacollector%®
\installdatacollectorhelper®
\initcollectanswer
\save_question_order%

\endgroup?
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17 score
B TE answer PRI NEZ 557,

score\scorei3t\\
score\score[type=dotfill]{30%\\
\resetscore\\
score\score[type=cdotfill]{30%\\
\setupscore[score=calculation]
score\score[type=space] {3f\\
score\score[type=hfill]{3%\\

1962  \def\score_calc#13% only show number
1963 \global\c_stepscore_temp=#1\relax®
1964 \ifnum\c_stepscore=0\global\c_stepscore=i#l\relax\else%

1965 \global\c_stepscore=\numexpr\c_stepscore+\c_stepscore_temp\relaxy
1966 \fi\number\c_stepscore%
1967 ¢

1968 \def\dotfill{\leavevmode%

1969 \xleadexrs\hbox to 0.25em${\h£fil.\h£fil{%

1970 \hfill\kern Opt\relax}

1971 \def\cdotfill{\leavevmode%

1972 \xleaders\hbox to 0.25em{\hfil$\cdot$\hfil?%
1973 \hfill\kern Opt\relax}

1974  \installnamespace fscoret
1975  \installcommandhandlexr \????score {score} \????score

1976  \setupscore[style=\ssa,color=red,dotstyle=\ss,dotcolor=red, score=]

1977  \tolerant\protected\def\score[#1]4#:#2{\begingroup? format style
1978 \iffirstargument\setupscore[#1]\£i%

1979 \scoreparameter\c!before%

1980 \usescorestyleandcolor\c!style\c!colox%
1981 \start\space\scoreparameteridotstylet%

1982 \switchtocolox[\scoreparameter{dotcolor}]%

1983 \doif{\scoreparameter\c!type}{}ti\dotfillt

1984 \doif{\scoreparameter\c!type}ispacetii%

1985 \doif{\scoreparameter\c!typeftihfill}{\unskip\h£ill}%

1986 \doifi\scoreparameter\c!typetidotfill}{{\dotfill}¥

1987 \doif{\scoreparameter\c!typeticdotfill}i{\cdotfill}%

1988 \space\stop\scoreparameter\c!left%

1989 \doif{\scoreparameteriscoretii? SH21%

1990 \doif{\scoreparameteriscoretiidefaulti {#2%%

1991 \doif{\scoreparameter{iscoretiicalculationt{\score_calci#2%t%
1992 \doif{\scoreparameteriscoretiicomplex}t {#2 : \score_calci#2}%
1993 \scoreparameter\c!right\scoreparameter\c!after¥

1994  \par\endgroup?

1995 \def\resetscores%

1996 \c_stepscore_temp=0\relax%
1997 \c_stepscore=0\relax%
1998 ¢
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1999  \installnamespace {writingboxt?

2000 \installcommandhandler \????writingbox i{writingbox} \????writingbox
2001  \setupwritingbox[row=10,column=18,width=2em,height=2em,midheight=1em]
2002  \newcount \tbl row

2003  \newcount \tbl col

2004 \def\makewritinghox{\dosingleempty\makewritingbox_indeed}

2005 \def\makewritingbox_indeed[#1]{\begingroup?

2006 \tbl_row=\writingboxparameterirow} % yoko

2007 \thl_col=\writingboxparametericolumnt % tate

2008 \setupTABLE [split=yes]

2009 \setupTABLE [column] [width=\writingboxparameteriwidth#]

2010 \setupTABLE[row] [odd] [height=\writingboxparameterimidheight}]
2011 \setupTABLE [row] [even] [height=\writingboxparameter{height}]
2012 \bTABLE

2013 \bTR \bTD[nc=\numbex\thl col] 3% \eTD \eTR

2014 \dorecurses\numbexr\thl row}$

2015 \bTR

2016 \dorecurse{\numbex\thl colt{\bTD {¢ \eTD?}

2017 \eTR

2018 \bTR \bTD[nc=\numbex\thl col] 3% \eTD \eTR}

2019 \eTABLE

2020 \endgroup?
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2021
2022
2023

2024
2025
2026

2027
2028
2029
2030
2031
2032
2033
2034
2035
2036
2037
2038
2039
2040
2041
2042
2043
2044
2045
2046
2047
2048
2049
2050
2051
2052
2053
2054
2055
2056

2057
2058
2059
2060
2061
2062
2063
2064
2065
2066
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i EPLR

\dorecurse{20001{% ®REiX T, FTURATAEROTFHEHK. PraflFHA—PME%k
\expandafter\getrandomnumber \csname n_\romannumeral\recurselevel\endcsname {1¢ 3
201}

\dorecurse{2000%3% — E X0 F R, W Likgksr 4 R, JH4 B4R,
\expandafter\getrandomnumber \csname nn_\romannumeral\recurselevel\endcsname {1}

1205 §

\def\longtesttxt[#1]1%%1. \longtesttxt[\romannumeral 1]

\ifcase\csname n #1\endcsname%
wEE S KM AEE ., \ox¥

RAMAF AR ZRE, Eh VAL EFEEARBHT, \oxrd

TeX A#EHZErE, CHUTHEA I YWELI XY 0. KA. EREF. BRAFER, \or
R, BERT —FEWBBDITHEN FE, ARERFFTHRFBIHELYTRFRNEZ IR FINFHE. \ox
HEARFAME “3F TeXbook WAEEH AN ZMAHAESE T EEHER XK F? " INMITFERT =M
%, \ox%
Efrn TeX FLMAEFHER—H, CHFEEREPNTZHENITH HFERER, \oxr%

TeX RFEFEREXRFZ (Fltr = 3 < ) RZHFBE (Bl + R x ) ZFH#THH. \ox¥
WA REN LW FEF A EANTE, FHMZE 0 -- 255 SEEN. \ox%
Junkjunk. tex XA AR, ERMATHAT — LB XN 7. \ox%
M AR T A P IR B AR ME| LT 7 kP, \ox¥
FHEE, ENTHFEENEESSPATHEL. \ox
WA RET —FHEER T2 RAN T, \ox¥
BFNzZE N AR F. \oxr
TR R HFLAE 0-7 TEA, ZHFAEES, HaxuskFAE \type!{\delcode? fE, \or%
Plain TeX H=t+&AEX, %M TF: \typei\def\rceil{\delimiter"5265307 *}', \ox%
HANEXERE \typei\rceill HERES (kM) , HABMKXERE2MNE"65, HAHREREIMLE"O
7". \ox%
\type{\Delimiter? #E T —MFEHKE, HFUFHFTRAIE. \ox%
Y Tex FELWMAH (Flin, £ \typei\left} zJ5) , CAMTAHTF, HEAFLH A SCLEHFHEN
\type{\delcode?., \ox%

BR, dpRAELM ETXPHIAN, 2 FHEME, HANEHTFRIFTE \typei\mathcode
¥, \ox%

T \typei\rceil?, Xx#Ew#% \typei\delcode!? =Z"265307, \type{\mathcode? Z"5265",
\ox%

CEATETAREM E M TEMKIER, BTk € v FTRRTENRZAESHFEE, \£it

\def\shorttesttxt [#1]$%%1. \shorttesttxt[i]
\ifcase\csname nn_#1\endcsname%
AHERSHE \ox¥
Bk F E & T E \oxisl
Frdh — AR 48t 8 BT B R \ox %
FFTeXZE R mm D B & AT 3 \ox%
¥ RA MR, EAR %R E A B2 245\ ox%
RAEYETEHI RN ZH, B4 SERLH T \ox
YA AE N HE K TATAKH \oxk
(8 P =47 514 K o
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2067
2068
2069
2070
2071
2072
2073
2074
2075
2076
2077
2078
2079

2080
2081
2082
2083
2084
2085
2086

2087
2088
2089
2090

2091
2092
2093
2094
2095
2096
2097
2098
2099
2100
2101
2102
2103
2104
2105
2106
2107
2108
2109
2110
2111
2112
2113
2114
2115
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MR EBPAEE T \oxk
kBRI A& \oxd
KB FEHB N4 H \oxy
T4 Bt \ox%l

* % JE W 40 & 5 \ox%
WA LT F\ox%

KL AR 7R \ox%
RFi%A E \ox%s

AN = B \ox%
LN B \ox%
ENEF AN 24

XA R\ ox%

FFINEit

\tolerant\protected\def\choicenum[#1] [#2] [#3]+%
\ifnum\csname nn_#l1\endcsname < 6
\expandafter\startcitem[x]{\shorttesttxt[\romannumeral #2]} \stopcitem
\else
\expandafter\startcitem {\shorttesttxt[\romannumeral #3]% \stopcitem
\fi
%

\newcount\LNUM\LNUM=1\relax
\newcount\CNUM\CNUM=1\relax
\newcount\DNUM\DNUM=1\relax
\newcount\ENUM\ENUM=2\relax

\protected\def\example@choice#1{
\setupquestion[point=2]
\dorecurses#1%5
\startquestion
\longtesttxt[\romannumeral\LNUM]\global\advance\LNUM by 1\relax
\startchoice
\choicenum[\romannumexral\CNUM] [\the\DNUM] [\the\ENUM]
\global\advance\CNUM by 1\relax\globalladvance\DNUM by 2\relax\global
\advance\ENUM by 2\relax
\choicenum[\romannumexral\CNUM] [\the\DNUM] [\the\ENUM]
\advance\CNUM by 1\relax\advance\DNUM by 1\relax\advance\ENUM by 2\relax
\choicenum[\romannumexral\CNUM] [\the\DNUM] [\the\ENUM]
\advance\CNUM by 1\relax\advance\DNUM by 1\relax\advance\ENUM by 2\relax
\choicenum[\romannumexral\CNUM] [\the\DNUM] [\the\ENUM]
\advance\CNUM by 1\relax\advance\DNUM by 1\relax\advance\ENUM by 2\relax
\stopchoice
% \startanswer
\input knuthmath
% \stopanswer
\stopquestion}?
%
\def\example@fillin#1+{
\setuppitem [point=3]
\startquestion
\longtesttxt[\romannumeral\ L NUM]

NO N
o o

o
<
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2116 \def\fillinanswer§\shorttesttxt[\romannumexral\CNUM]?
2117 \startproblem

2118 \dorecurse{#1}{

2119 \startpitem

2120 \longtesttxt[\romannumeral\CNUM]\fillin[J{\fillinanswer}
2121 \stoppitem

2122 % \startanswer

2123 % \input knuthmath

2124 % \stopanswer

2125 \global\advance\CNUM by 1\relaxt}

2126 \stopproblem

2127 \stopquestion

2128 ¢

2129  \def\example@pitem#l{

2130 \startquestion

2131 \longtesttxt[\romannumeral\l NUM]

2132 \def\fillinanswer{\shorttesttxt[\romannumexral\CNUM] *
2133 \startproblem

2134 \dorecurses#1%5

2135 \startpitem[answer={answer : \recurselevel?, point={\numbex\CNUM}]
2136 \longtesttxt[\romannumexral\CNUM]\stoppitem

2137 % \startanswer

2138 % \input knuthmath

2139 % \stopanswer

2140 \global\advance\CNUM by 1\relax}

2141 \stopproblem

2142 \stopquestion

2143 ¢

2144  \def\example@material#l{

2145 \startmaterial

2146 \input knuthmath

2147 \stopmaterial

2148 \setupquestion[point=6]

2149 \dorecurse$#1%5

2150 \startquestion

2151 \longtesttxt[\romannumeral\LNUM]\global\advance\LNUM by 1\relax
2152 \startchoice

2153 \choicenum[\romannumexral\CNUM] [\the\DNUM] [\the\ENUM]
2154 \global\advance\CNUM by 1\relax%

2155 \global\advance\DNUM by 2\relax®

2156 \global\advance\ENUM by 2\relax%

2157 \choicenum[\romannumexral\CNUM] [\the\DNUM] [\the\ENUM]
2158 \advance\CNUM by 1\relax%

2159 \advance\DNUM by 1\relax%

2160 \advance\ENUM by 2\relax?

2161 \choicenum[\romannumeral\CNUM] [\the\DNUM] [\the\ENUM]
2162 \advance\CNUM by 1\relax%

2163 \advance\DNUM by 1\relax%

2164 \advance\ENUM by 2\relax%

2165 \choicenum[\romannumexral\CNUM] [\the\DNUM] [\the\ENUM]
2166 \advance\CNUM by 1\relax%
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2167
2168
2169
2170
2171
2172
2173
2174
2175
2176
2177
2178
2179
2180
2181
2182
2183
2184
2185
2186

2187
2188
2189
2190
2191
2192
2193
2194
2195
2196
2197
2198
2199

2200
2201
2202
2203
2204
2205
2206
2207
2208
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\advance\DNUM by 1\relax%
\advance\ENUM by 2\relax’
\stopchoice
% \startanswer
% \input knuthmath
% \stopanswer
\stopquestion}?
%
\def\example@closei#ls
\startclose
\def\closechoicex{\shorttesttxt[\romannumeral\DNUM]\global\advance\DNUM by 1
\relax?
\dorecursei#1ts
\dorecurses 3%+
\longtesttxt[\romannumeral\CNUM]
\global\advance\CNUM by 1\relax
t\closechoice[\closechoicex, $[*]\closechoicex?,\closechoicex]
\longtesttxt[\romannumeral\CNUM] ¢
\stopclose

hy

\def\example@optclosed#l{
\startoptclose
\def\closechoicex{{\ss\shorttesttxt[\romannumeral\DNUM]\global\advance\DNUM by
1\relaxt?t
\dorecurses#1%5
\dorecurse$ 3¢+
\longtesttxt[\romannumeral\CNUM]
\global\advance\CNUM by 1\relax
t\ocitem[point=4,answer={\shorttesttxt[\romannumexral\DNUM]}]%
i\closechoicex, \closechoicex, \closechoicex?
\longtesttxt[\romannumeral\CNUM]}
\stopoptclose
%

\def\example@specialoptclosefls

\dorecurses#1%3
\dorecurses 3¢+
\longtesttxt[\romannumeral\CNUM]
\global\advance\CNUM by 1\relax
t\specialocitem[point=2,answer=3\shorttesttxt[\romannumeral\DNUM]}]{}
\global\advance\DNUM by 1\relax

\longtesttxt[\romannumeral\CNUM]}
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2209

2210

2211
2212
2213
2214
2215
2216
2217
2218
2219
2220
2221

2222
2223

2224
2225
2226
2227
2228
2229
2230
2231
2232
2233
2234
2235
2236
2237
2238
2239

80 t-basicexam

Memoir Ever

FTENVE & / Print answer / & Z Dl

\newcount\c_qgid_answer
\def\resetanswerid{\global\c_qgid_answer=1\relax?
Example 1:

\dorecurse{5t{\typeanswerbychapiltt % grab answer from chapter 1
\newcount\c_tempa\c_tempa=2\relax 9% grab answer from 0-\the\c_tempa(chapter=0
gid=\the\c_tempa)
\dorecursei5}ti\typeanswerbychap[\c_tempa]{i0t\advance\c_tempa by 1\relax}

\tolerant\def\typeanswerbychap [#1]4:#2%

{\begingroup’ #1 = QID, #2 =chap number

\ifparameteril\or
\doifsomethingelse{\scratchcounterone#1}{\scratchcounterone#1t$
\scratchcounterone\zerocount}%
\c_gid_answer=\numexpr\scratchcounterone -1\relax\fi

\scratchcounteri#2\relax

\global\advance\c_qgid_answer by 1\relax

\datasetvariable{Answer collectort{\the\scratchcounter-\the\c_qgid_answer}{ianswer
%

\endgroup?
Example 2:
\typeanswerdirect{0-5}% % grab answer from chapter 0 gid 5

\def\typeanswerdirect#1{% #1 = qid, FEHATH IR EE 2%
\datasetvariable{Answer collector}ti#liianswert?

Example 3:

\typeanswerlist{30% % type answer from chap 0 and get qid 1 - 30
\typeanswerlist[1]330} 9% type answer fromchap 1 and get gid1 - 30
\typeanswerlist[1][2]$30}% % type answer from chap 1 and get gqid 2 - 30

\tolerant\protected\def\typeanswerlist[#chapno] [#startno]dkxi#:#total{%#1 = chapter
number
\begingroup
\ifparameterichapno\ox
\doifsomethingelse{\scratchcounterone #chapno #{\scratchcounterone i#chapno %%
\scratchcounterone \zerocount?\fi
\ifparameteristartno\or
\doifsomethingelse{\scratchcountertwo #startnot{\scratchcountertwo #startnot{
\scratchcountexrtwo \zerocounti{\fi
\ifparameteritotal\or
\doifsomethingelse{\scratchcounterthreestotal }{\scratchcounterthreestotal }1{
\scratchcounterthree\zerocount}\fi
\c_gid_answer=\scratchcountertwo
\dorecursei\the\scratchcounterthreet{% answer amount
\datasetvariable{Answer_collector}{\the\scratchcounterone-\the\c_qid_answer}{
answert,%
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2241

2242
2243
2244
2245
2246
2247
2248
2249
2250
2251
2252
2253
2254
2255
2256
2257
2258
2259
2260
2261
2262
2263
2264
2265
2266
2267
2268
2269
2270
2271
2272
2273
2274
2275
2276
2277
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\advance\c_qgid_answer by 1\relaxi¥%
\endgroup?

Example 4:

\typeanswertable[2,5]%#3=0#4=1
\typeanswertable[2,5] [0]%#4 =1
\typeanswertable[2,5] [0] [6] % type answer in table
| ID | ID | ID | ID | ID |#1=2

| 01 | 02 | 03 | 04 | 05 |#2=5

| AS | AS | AS | AS | AS | #3=fromchap0

| 01 | 02 | 03 | 04 | 05 | #4 =type start QID6

\newcount\answer@seq@tempa
\newcount\answer@seq@tempb
\tolerant\def\typeanswertable [#rows,#columns]#x[#chapno]ix[#startnol®
{\begingroup
\ifarguments\oxr\or
\scratchcounter \zerocount\relax
\scratchcounterone \plusone \relax
\or
\doifsomethingelse{\scratchcounter ichapno \relaxt?
i{\scratchcounter i#chapno \relax}
f\scratchcounter \zerocount\relax?
\scratchcounterone \plusone \relax
\or
\doifsomethingelse{\scratchcounter 3#chapno \relax}
i\scratchcounter i#chapno \relax}
i\scratchcounter \zerocount\relax?
\doifsomethingelse{\scratchcounterone #startno\relax}?
{\scratchcounterone #startno\relax?
i\scratchcounterone \zerocount\relax?
\or\fi
\answer@seq@tempa=\numexpr\scratchcounterone-1\relax
\answer@seq@tempb=\numexpxr\scratchcounterone-1\relax
\the\answer@seq@tempa == \the\answer@seq@tempb
\bTABLE
\dorecursesifrowsts
\bTR
\dorecurseii#columns}{\advance\answer@seq@tempa by 1\relax
\expanded{\bTD\tt\datasetvariable{Answer_collector?{\the\scratchcounter-\the
\answer@seq@tempatiuserordert\eTD} %
\eTR\bTR
\dorecurseii#columnsi{\advance\answer@seq@tempb by 1\relax
\expanded{\bTD\ss\datasetvariable{Answer_collector?{\the\scratchcounter-\the
\answer@seq@tempb}ianswer}\eTD#$$%
\eTR}%
\eTABLE
\endgroup?
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Example 5:

\typeanswertablealt[4,2]%#3=04#4=1
\typeanswertablealt[4,2] [1]%#4 =1
\typeanswertablealt[4,2][1][2] % type answer in table

ID | O1 | AS | 01 |#1=4

ID | 02 | AS | 02 |#2=2

ID | 03 | AS | 03 | #3 =fromchapO

ID | 04 | AS | 04 | #4 =type start QID2

2278 \tolerant\def\typeanswertablealt[#rows,#columns]itx[f#chapno]i*[#startno]?
2279 {\begingroup\ifarguments 0\or

2280 \scratchcounter \zerocount\relax

2281 \scratchcounterthree \plusone \relax

2282 \orxr

2283 \scratchcounter \zerocount\relax

2284 \scratchcounterthree \plusone \relax

2285 \or

2286 \scratchcounterthree \plusone \relax’ for startno
2287 \doifsomethingelse{\scratchcounter #chapno \relax}
2288 {\scratchcounter #chapno \relax}

2289 i\scratchcounter \zerocount\relax?

2290 \or
2291 \doifsomethingelse{\scratchcounter ichapno \relaxt?

2292 i{\scratchcounter i#chapno \relax}

2293 i\scratchcounter \zerocount\relax?

2294 \doifsomethingelse{\scratchcounterthree i#startno\relax?
2295 i\scratchcountexrthree #startno\relax?

2296 {\scratchcounterthree \zerocount\relax}

2297 \or\fi
2298 \scratchcounterone #rows \relax

2299 \scratchcountertwo #columns\relax

2300 \answer@seq@tempa=\numexpr\scratchcounterthree-1\relax
2301 \def\getdataiHli\datasetvariable

2302 {Answer collectori%

2303 {\the\scratchcounter-\the\answer@seq@tempat
2304 SHELE %

2305 \bTABLE

2306 \dorecurse$\the\scratchcounteronet{\bTR

2307 \dorecurse{\the\scratchcountertwo?{\advance\answer@seq@tempa by 1\relax
2308 \expanded{\bTD\tt\getdataiuserordert\eTD}

2309 \expanded{\bTD\ss\getdatafanswer} \eTD?}

2310 I3

2311 \eTR?

2312 \eTABLE
2313 \endgroup?
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20 BiAE%HE / Mode Setting/ E— Kt v b

2314 \definemode[teacher] [keep]

2315  \definemode [student] [keep]

2316  \definemode[check] [keep]

2317 \startmode[teacher]

2318 \mode_showanswertrue

2319 \mode_showpointtrue

2320 % \setupquestion[showanswer=true, showpoint=true]

2321 % \setupchoice [showanswer=true,showpoint=true]

2322 % \setupcitem [showanswer=true,showpoint=true]

2323 % \setuppitem [showanswer=true,showpoint=true]

2324 % \setupclose [showanswer=true,showpoint=true]

2325 % \setupocitem [showanswer=true,showpoint=true]

2326 % \setupanswer [showanswer=true,showpoint=true,showscript=false]
2327  \stopmode

2328 \startmode[student]

2329 \mode_showanswerfalse

2330 \mode_showpointfalse

2331 % \setupquestion[showanswer=false, showpoint=true]

2332 % \setupchoice [showanswer=false,showpoint=true]

2333 % \setupcitem [showanswer=false,showpoint=true]

2334 % \setuppitem [showanswer=false,showpoint=true]

2335 % \setupclose [showanswer=false,showpoint=true]

2336 % \setupocitem [showanswer=false,showpoint=true]

2337 % \setupanswer [showanswer=false,showpoint=true,showscript=false]
2338 \stopmode

2339 \startmode[check]

2340 \mode_checktrue

2341 \stopmode

2342 \def\showanswer{\mode_showanswertrue\setupanswer[showscript=false]?
2343  \def\hideanswer{\mode_showanswerfalse\setupanswer[showscript=true]?
2344 \let\showpoint\mode_showpointtrue

2345 \let\hidepoint\mode_showanswerfalse

2346  \let\showchekinfo\mode_checktrue

2347  \protect

2348  \stopmodule

2349  \endinput
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